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Chapter 6: Differential Equations

Exercise 6.1 | Q 1 | Page 193

Determine the order and degree of the following differential equation:

d? d
E‘Z—I—x(i) +y=2sinx

The given D.E. is

&’y dy .
—2+X(E) +y=2sinx

dx

2

This D.E. has highest order derivative d—}ﬂr with power 1.
X

~. the given D.E. is of order 2 and degree 1.

Exercise 6.1 | Q 2 | Page 193

Determine the order and degree of the following differential equation:

dv\? a2
i+ () ===
dx dx?

SOLUTION

The given D.E. is

; a'll dy\? a*
J1ip () = =2
\l dx dx?

On cubing both sides, we get

(3)-(58)
dx a dx?
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2

This D.E. has highest order derivative d—:; with power 3.
X

.. the given D.E. is of order 2 and degree 3.

Exercise 6.1 | Q 3 | Page 193
Determine the order and degree of the following differential equation:
dy 2sin x + 3

dx dy
dx

SOLUTION

The given D.E. is

dy 2sinx+3

dx dy
dx

d 2‘
(d—i) =2sinx+ 3

This D.E. has highest order derivative &y with power 2.

- the given D.E. is of order 1 and degree 2.
Exercise 6.1 | ( 4 | Page 193

Determine the order and degree of the following differential equation:

d?y+d}r+ B fl+d3y
o dx dx®
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SOLUTION

The given D.E. is

d2 d d?
—F—I——y—l—x— 1—|——}r
dx? dx dx?

On squaring both sides, we get

d’y d dy
(—F —I——y—i—x) =1—|——
dx*
| | &y
This D.E. has highest order derivative E with power 1.
.. the given D.E. has order 3 and degree 1.

Exercise 6.1 | ( 5 | Page 193
Determine the order and degree of the following differential equation:

d’y dy \ 2
] -I—(d;’r) +7x+5=0

SOLUTION

The given D.E. is

d%y dy \ 2
-I—( y) +T7x+5=0
dx? dx

2

This D.E. has highest order derivative —— with power 1.

a2
~. the given D.E. has order 2 and degree 1.

Exercise 6.1 | Q 6 | Page 193
Determine the order and degree of the following differential equation:

(ym}E + 3y +3xy/ + 5y =0
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SOLUTION

The given D.E. is
{}T.’H)g + 3yM + 3xy! + 5y = 0
This can be written as:

2

d d? d

(d—}r) *'“"ﬁi”}f(%) 5y =0
b4

3

This D.E. has highest order derivative E{: with power 2.

. the given D.E. has order 3 and degree 2.

Exercise 6.1 | Q 7 | Page 193

Determine the order and degree of the following differential equation:

9 2
(H) —I-COS(E) =0
dx? dx

The given D.E. is

2
d? d
et + cos i 0
dx? dx

This D.E. has highest order derivative

2

dx®
- order = 2

Since, this D.E. cannotbe expressed as a polynomial in differential coefficients, the
degree is not defined.
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Exercise 6.1 | Q 8 | Page 193

Determine the order and degree of the following differential equation:

3
o2
1+(£) gy
dx dx?

The given D.E. is
3
2] 2 2
1+ (ﬂ) _ &y
dx dx?
On squaring both sides, we get
3
(3] - (3)
dx dx?
2

This D.E. has highest order derivative E}; with power 2.

- the given D.E. has order 2 and degree 2.
Exercise 6.1 | @ 9 | Page 193

Determine the order and degree of the following differential equation:

o) &) =%

The given D.E. is

AN (AT,
dxg dx
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Sy \* /dy 2
() (&) -
{13

This D.E. has highest order derivative —j; with power 3.
dx

- the given D.E. has order 3 and degree 3.
Exercise 6.1 | Q 10 | Page 193

Determine the order and degree of the following differential equation:

[ 9
d2 d?
Ly \/1 N (_‘f)
dx? dx?

SOLUTION

The given D.E. is

dy | ( d*y )
X+ —5={\/1+|—5
dx® V dx’

On squaring both sides, we get
2

42 v\’
o) e ()
dx dx

2 2 2 2 2
.-.xg+2xd—}r—|— (d—y) =1+ (H)
dx? dx? dx?

d?
cxyaxs Y 1.0
C]J[E

2

This D.E. has highest order derivative Ej.’i with power 1.

- the given D.E. has order 2 and degree 1.
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EXERCISE 6.2 [PAGE 196

Exercise 6.2 | Q 1.01 | Page 196

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

x3 +y3 = 4ax

x> +y3 =dax  ...(1)

Differentiating both sides w.r.t. x, we get
dy
3x2 4+ 3y’ —4ax1
y dx

o dy
dx

Substituting the value of 4a in (1), we get

. 3x2 4+ 3y 4a

This is the required D.E.

Exercise 6.2 | Q 1.02 | Page 196

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

Ax2+By?=1
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AxZ + By? =
Differentiating both sides w.rt. x, we get

dy

Ax2x+Bx2y = —0
X 2X+ b X ydx
d
~Ax+By—Y —0 ..(1)
dx

Differentiating again w.r.t. x, we get

d [ dy dy dy
Ax1+Bly— | — — - — | =0
el (@) ol

’y

d dy \ 2
SA4+Bly—=+ (=) =0
i [FdxﬁJr(dx)]

d2 dy \ 2
e (8)
dx? dx

Substituting the value of Ain (1), we get

a2 dy \ 2 d
y §+(y)]+3y—y 0

~A=-B

—Bx

dx dx dx N

I dx Y ix
d? dy\? d
S +(d_i) ~Ygg =0

This is the required D.E.
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Exercise 6.2 | Q 1.03 | Page 196

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

y = A cos (log x) + B sin (log x)

SOLUTION

y = A cos (log x) + Bsin (logx) ..(1)

Differentiating w.r.t. x, we get

d d d
E}r = —A sin(log x) - E(lﬂg x) + B cos(log x) - E{lng x)

—A sin(log x) N B cos(logx)

x X

dy .
s X—— = - Asin (log x) + B cos (log x)

Differentiating again w.r.t. x, we get

d’y dy —Asin(l B cos(1
y . dy _ sin(log x) N cos(log x)

X

dx? dx X x
L SN [A cos (log %) + Bsin (log¥)] = -y ....[By (1)]
dx? dx
d? d
- x2 dx}; + X di + y = 0 is the required D.E.

Exercise 6.2 | Q 1.04 | Page 196

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

V2= (< + o)’
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SOLUTION

ye=(x+c)? ..(1)

Differentiating w.r.t. x, we get

d

2y —3(x+¢)- (1) = 3(x +¢)°
dx

. 2_ 2%y &y

s(xte) = 3 dx

_ 6 (2y dy ’
~(x+c) _(3 dx)

8y* [(dy)’
() = o (—F) [By (1)

27 dx

dy 3
=27yt =8yt [ —
y y(dx)

dy 3
s 2Ty = 81 —
(&)

3
dy
L8 — —2Tv =10
(dx) Y

This is the required D.E.
Exercise 6.2 | Q 1.05 | Page 196
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Obtain the differential equation by eliminating the arbitrary constants from the

following equation:

y = Ae®> + Be™>

SOLUTION

y = Ae™ + Be™* (1)

Differentiating twice w.r.t. x, we get

d
E}r = Ae”™ x 5+ Be ™ x (—5)
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d
S5 5Ae™™ — 5Be 5%
dx
9
and 4y _ Ae’™ x 5+ Be ™ x (—5)
C]J(E

= 25Ae™ + 25Be”
— 25(Ae’™ 4+ Be ™) = 25y ...[By(1)]

32
L 25y =0
dx
This is the required D.E.

Exercise 6.2 | Q 1.06 | Page 196
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Obtain the differential equation by eliminating the arbitrary constants from the

following equation:
(v - @)* = 4(x - b)

(y - @)% = 4(x - b)

Differentiating twice w.r.t. x, we get
d d

2(y-a)- —(v-a)=4— (x-b

(v-a) o (y-a) =4__(x-D)

= 2(y-a)- (% —0) =4(1—-0)

dy

. dy _
..(j,r—a,]dx =2 ..(1)

Differentiating again w.r.t. x, we get

d /dy dy d
(F-&)E(E) t o V-2 =0
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Exercise 6.2 | Q 1.07 | Page 196
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Obtain the differential equation by eliminating the arbitrary constants from the

following equation:
y=a+alx
SOLUTION

a
y=a+— ..(1)
X

Differentiating twice w.r.t. x, we get

8oL oo 5)

dy  a
dx  x2
a = —:acc‘}ﬁ

dx

Substituting the value of a in (1), we get

dy 1 dy

2 2

= - —_|__ — -

/ xd:{ :{(de)
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_ » dy dy
y=-X° — —x—
dx dx
@) E y—o
dx

dy

Axx+ 1) == +y=0
dx

This is the required D.E.

Exercise 6.2 | Q 1.08 | Page 196

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

y = c1e? + c2e5%

SOLUTION
y = e+ e (1)

Differentiating twice w.r.t. x, we get

d
EF —c1e x 24y’ x 5
d
d—i — 2c16% + 5ege™  .(2)
Q2
and d—j‘; — 2¢;6% X 24 5ce™¥ x 5
X
dzy 2x X
F = 4cie™ + 2Hcoe™ L. (3)
X

The equations (1), (2) and (3) are consistent in c1ez}{ and c:zef"*C

.. determinant of their consistency is zero.
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vy 1 1
& 2 5| =0
iy 4 2
d d? d d?
2y60-200-1(252Y 58 ) 4 (4 25V )
dx dx? dx dx?
. 30 ;25‘313r+5.‘5l%f+4dEr 2d23’r—0
YT T T Tax Tad
d? d
235 915 g0y —0
dx? dx
d’y _dy
S8 RS oy —o0
dx? dX+ Y

This is the required D.E.
Exercise 6.2 | Q 1.09 | Page 196

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:
cixd+c2y?=5

e+ eyl =5 .. (1)

Differentiating twice w.r.t. x, we get

c1 X 3x* +¢ ><2},rd—y=[]
1 2 =

d
- 3¢,x2 + 2c2y§ —0..Q2)

Differentiating again w.r.t. x, we get

d [dy dy dy
3e; % 2x + 2c9 }TE E +d—'a =10
X
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d2 dy \ 2
(8]
dx dx

The equations (1), (2) and (3) in ¢4, c; are consistent.

s 6eix + 2eo

.. determinant of their consistency is zero.
x° yﬂ D
3x> 2y 0

2
6x 2y%Y +2( ) 0

. x*(0—0)—y2(0—0) +5 ﬁxgyﬁ—kﬁxg dy 2—12){yd—y — 0
B d:{z dx d

d’y dy \’ dy
a2 2 _
v 6xTy—5 + 6x (—) —12xy— =0
d%y dy dy
— —2y—— =0
}r-::b: X (d}c) Y dx

This is the required D.E.

Exercise 6.2 | Q 1.1 | Page 196

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:
y = e (A cos X + B sin x)

SOLUTION

y = e 2 (A cos x + B sin x)

2y =Acosx +Bsinx ...(1)

Differentiating twice w.r.t. x, we get
d
e’ . d—y—l-j? e x 2 = A(—sinx) 4+ Bcosx
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d
2}[ }r 5 H
Se — + 2 =-Asinx+ Bcosx
(dx F)

Differentiating again w.r.t. x, we get

d’ d d
Ex(d}; +2di) + (d—i—l—2}f) 2x><2=-Acosx+B(— sin )

d’y _d d
(54_3&}{4-2%4—43;) - (A cos x + B sin x)

d’y  dy 5
Y 4y eX. y  ..[By(1)]
(dx dx }r) Y g
d’y  dy
. 41— 4 Ay — —
h-+dX+F y
Cd%y . dy

2 —|—4dx—|—5}f=0

This is the required D.E.

Exercise 6.2 | Q 2| Page 196

Form the differential equation of the family of lines having interceptsaand b on the
coordinate axes respectively.

The equation of the line having intercepts a and b on the coordinate axes respectively,
IS

X ¥
—+ = =1 .1
- (1)

where a and b are arbitrary constants.

Differentiating (1) w.r.t. x, we get

e (3) -
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{1\ dy 1
) (E)_dx " a
~dy b
Tdx a

Differentiating again w.r.t. x, we get
d?y
dx®
This is the required D.E.

Exercise 6.2 | Q 3| Page 196

=0

Find the differential equation all parabolas having a length of latus rectum 4a and axis is
parallel to the axis.

SOLUTION

//_.
k

Let A(h, k) be the vertex of the parabola whose length of the latus rectum is 4a.

Then the equation of the parabola is
(y - k)2 =4a(x - h), where h and k are arbitrary constants. Differentiating w.r.t. x, we get
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2(y- k) -~ (y- k) = da(x-b)

59(Z o) a0

dy

(y-k)===2a .(1)

Differentiating again w.r.t. x, we get

d [ dy dy d
) — (L) + 2 S yix =0
(v-k) ﬁ(@)+¢xdﬁy)

d’y dy [(dy
(v-k : —0)=o0
(}r )d}{2 - dx (cb[ )

dﬂy d}r 2
.'.(}f—k)dxg—i—( ) =0

d2 dy \ *
o 2a g + ( F) =10
dx dx

This is the required D.E.

Exercise 6.2 | Q 4 | Page 196
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Find the differential equation of the ellipse whose major axis is twice its minor axis.

SOLUTION

Let 2a and 2b be lengths of major axis and minor axis of the ellipse.

Then 2a = 2(2b)
~a=2b

~ equation of the ellipse is
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X ¥
PRI A |

4> b’
o X2+ dy? = 4b?
Differentiating w.r.t. x, we get

d
9% 4+ 4 % 2y—L — 0
dx
dy
x+ a4y —o

This is the required D.E.

Exercise 6.2 | Q 5| Page 196
Form the differential equation of family of lines parallel to the line 2x + 3y + 4 = 0.

The equation of the line parallel to theline2x + 3y + 4 =0 s
2x + 3y +4 =0, where c is an arbitrary constant.

Differentiating w.r.t. X, we get

ax1+3%¥ 0_0
Lo-

dy
L3 —+2=0
dx

This is the required D.E.

Exercise 6.2 | Q 6 | Page 196
Find the differential equation of all circles having radius 9 and centre at point (h, k).

Equation of the circle having radius 9 and centre at point(h, k) is
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(x-h2+(y-k?=81, ... (@B
where h and k are arbitrary constant.

Differentiating (1) w.r.t. X, we get

2(x—h)-;—x(x—h)+2(y—k)v%(y—k]=ﬂ

o (x - h)(1 -O]+{y—k}l(d—y—ﬂ) =0
dx

d
.-.{x—h]+|[y—k]d—y=[] ..... 2
X

Differentiating again w.r.t. x, we get

L (x-m) + (K i(ﬁ)ﬂl—y 4 ym=o0

dx dx dx
dy dy [(dy
~(1-0 -k : —0) =0
1-0+(-0L+ (dx )
d%y dy \ 2
k +1=0
(}r )dx (dX)
d%y dy \ 2
k —| = 1
(}r )dx [(dx) +]
2
dy
BECN
dx?

d
From (2), x - h = - (y - k) —
dx

Substituting the value of (x - h) in (1), we get

{y-k)?(%)gw-k)%m
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This is the required D.E.

Exercise 6.2 | Q 7 | Page 196

Form the differential equation of all parabolas whose axis is the X-axis.

SOLUTION
Y
o 0 (h, O} i
da

The equation of the parbola whose axis is the X-axis is y2 = 4a(x - h),

where a and h are arbitrary constants.

Differentiating (1) w.r.t. X, we get

2}'(3—1) =4a(l1—0)

dy
L y— = 2a
Fd:{

Differentiating again w.r.t. x, we get
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d /dy dy dy
)+ L. 0
Y dx(dx) dx  dx

By v\
dx? dx

This is the required D.E.

EXERCISE 6.3 [PAGES 200 - 201
Exercise 6.3 | Q 1.1 | Page 200
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In the following example verify that the given expression is a solution of the

corresponding differential equation:

dy y’
xy =logy +¢ e I xy
SOLUTION
xy = logy +c

Differentiating w.r.t. x, we get

dy 1 dy
L 1=—.—L 10
X dX—I—jT:x: . cb:+

d 1 d

dx y dx

g = ifxy # 1
dx xy — 1 1 —xy o

Hence, xy = log y + c is a solution of the D.E.

d 2
y __ Y ifxy # 1,
dx 1—xy
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Exercise 6.3 | Q 1.2 | Page 200
In the following example verify that the given expression is a solution of the

corresponding differential equation:

et (g LY dy
y_(sm 1:{) +C](1_X)dx2 —de—E
yz(sin_lx)ﬂ—l-c ..... (1)

Differentiating w.r.t. x, we get

% = %(sin_l :«:)2 + 0
dy . d . _
E = 2(5111 1}(] -E(sm lx)
— 2sin 'x x ;
Vi_e

d
1-x2 Y _oginlx

- (1-x?) (%)2 — 4(sin 1 x)’

2
(- (%) — A(y-c) ..[By (1)

Differentiating again w.r.t. x, we get

d (dy\® [dy\® d ) d
1-x2) — (=) +(==2) -—(1- =4—(y-
( X) dx(dx) (d}() dx( x) c]Jn:(}r °)

d
Cancelling EEF throughout, we get
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d* d
(1 — :{2) Y & _»
d_}.(2 ClX
Hence, y = (sin”1 x)2 + c is a solution of the D.E.
da’ d
(1 — :{2) Y _ X Y =2
d}(g dX

Exercise 6.3 | Q 1.3 | Page 200
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In the following example verify that the given expression is a solution of the

corresponding differential equation:
2

d
y:e'“+A:{+B;ex—'Z=1

dx
y=e*+ Ax + B;

Differentiating w.r.t. x, we get

dy «
— =e " x(-1)+Ax1+0
= (-1)
dy x
L—=e 1A
dx
Differentiating again w.r.t. x, we get
d’y X
—— =—e " x(—-1)+0
122 (—1)
d?y 1
dxg o EI
42
=Y 1
Eb[ﬂ
Hence, y = e™ + Ax + B is a solution of the D.E
q2
ex—g =1
dx
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Exercise 6.3 | Q 1.4 | Page 200

In the following example verify that the given expression is a solution of the
corresponding differential equation:

d? d
~l~,.r:::.;;”";:{EE}2r —mxi—l—m}rzﬂ
SOLUTION
y =x"

Differentiating twice w.r.t. x, we get

d d
B~ ) e
d’ d d
and d—}; = E( o) = m-—— (x™ 1) =m(m — 1)x™?
d’ d
ngg —md—y—l-my

=x"-m(m — 1)x™"

— m(m - 1)x™ — m?x™ + mx™

2

= (m —m—m?—I—m]xm:O

This shows that y = x™ is a solution of the D.E.

d? d
xgd—g — mxd—i + my = 0.
X

Exercise 6.3 | Q 1.5 | Page 200

In the following example verify that the given expression is a solution of the
corresponding differential equation:

b diy dy
y:a—l—;;xdxg +2dx =0
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SOLUTION
y=a+ —
X

Differentiating w.r.t. x, we get

Differentiating again w.r.t. x, we get

dx \dx/  dx dx
d’y d
st S ax =0
dx dx
d? d
Lx— + oY _ o
dx? dx
Hence, y = a + — is a solution of the D.E.
b
d? d
X Y + 2 Y 0
dxﬂ dx

Exercise 6.3 | Q 1.6 | Page 200
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In the following example verify that the given expression is a solution of the

corresponding differential equation:

dy
y = EH;XE =ylogy
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y =e™
= logy =log e™ = axlog e
~logy=ax .. (1) ...[v loge =1]
Differentiating w.r.t. x, we get
1 d
=2 _axi1
y dx
dy
L — =a
dx Y
Y (ax)
L X— = (ax
dx y
dy
LXx— =yl ~.[By (1
de ylogy [By (1)]

Hence, y = e™ is a solution of the D.E. XEF = vlogy.

Exercise 6.3 | Q 2.01 | Page 201
Solve the following differential equation:

dy (1+y)*
dx (1 +x)?

SOLUTION

dy (1+y)°
dx  (1+x)°

1 1
dy = dx
1+ y? 1+ x2

Integrating both sides, we get
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f 1 dx=/ 1 dx
1+ y? 1+x?

-1 1

~tan 'y =tan "X+ cC

This is the general solution.

Exercise 6.3 | Q 2.02 | Page 201

Solve the following differential equation:

d
log (i) =2x+ 3y

d
log (—y) = 2x + 3y
dx

dy

_ e?x+3y _ e?x.eﬂy
dx
1

. . ¢
* EE}rdy e dx

Integrating both sides, we get

fe_g}'dy = /ehi dx
fe_gydy = fezxdx

—3y eﬂx

—3 2 !

S 2e % = —3e% 4 6y

~2e7% 4 36 — ¢, where ¢ = 6¢4

This is the general solution.
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Exercise 6.3 | Q 2.03 | Page 201

Solve the following differential equation:

dy
—x— —0
y X

SOLUTION

1
—dy
X ¥

Integrating both sides, we get

1 1
f—dx= /—d}r
X y

. log x| = log |y] + log ¢

|
=9
4
Il

- log [x] = log |y

- {:}-’

This is the general solution.
Exercise 6.3 |  2.04 | Page 201

Solve the following differential equation:

sec’x - tan y dx + secgj,r -tanxdy =0

sec’x - tan y dx + SE{‘.EE -tanxdy =10
2 2
22 R g4 X }rd}f =0
tan x tan y

Integrating both sides, we get
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2 2
sec x sec
f dx + f y dy = ¢;
tan x tany

Each of these integrals is of the type

/ fff((;) dx = logl|f(x)| +c

.. the general solution is

log |tan x| + log |tan y| = log ¢, where ¢y = log
- log|tanx - tany| = loge

~tanx-tany = c

This is the general solution.

Exercise 6.3 | Q 2.05 | Page 201

Solve the following differential equation:
cosX-cosy dy — sinx - sin ydx = 0
cosX-cosydy — sinx - sin ydx = 0

Cos y sin X

——dy —
s111 }' COs X

dx =10

Integrating both sides, we get

/cotydy—/tauxdxzcl

- log|siny| — [ log|cos x|] = log ¢,where ¢; = log ¢

- log|siny| + log|cos x| = logc
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- log|siny| + log|cos x| = logc
- log|siny - cosx| = logc

. 8SINy-cosX =CcC

This is the general solution.

Exercise 6.3 | Q 2.06 | Page 201

Solve the following differential equation:

d

el = —k, where k is a constant.
dx

dy

— =k

d_x 7

~ody = - kdx

Integrating both sides, we get

fdy=—k/dx

.'.‘}.l':—l{)(-l-'[

This is the general solution.

Exercise 6.3 | @ 2.07 | Page 201

Solve the following differential equation:

C052 ¥ CDSQI{

dy +
X ¥y

dx =10
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2 2
COS COS“X
Y dy + dx =10
X y

-y cos?y dy + x cos® x dx = 0

1 — cos?2 2
.-.x(#)dxjty(ljt mﬂz F)dy:ﬁ

X(1 + cos 2x) dx + y(1 + cos 2y)dy = 0
~xdx+ xcos2xdx+ydy +ycos2ydy =0

Integrating both sides, we get

fxdx—l—[ydy—l—/xms2xdx—l—fyt:052ydy=c1 (1)

Using integration by parts

fxcc:-s2xdx—xfcc-52}:dx /[ x}fcos2xdx]dx
:X(st}c) _/‘1. 51112de
2 2

B X sin 2xX " 1 cos2x B X sin 2x cos 2X
2 2 2 2 4
Similarly,
in 2 2
fycas2ydy=yslﬂ }r—l—m5 Y
2 4
- from (1), we get
2 2 . .
X X 8in 2x cos 2x sin 2 cos 2
I A + 125 A
2 2 2 4 2 4

Multiplying throughout by 4, this becomes

2x° + 2y2 + 2% 5in 2x + cos 2x + 2y sin 2y + cos 2y = 4¢;
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2 2%+ yz} +2(xsin2x +ysin2y) +cos2y + cos 2x + c =0

where ¢ = - 4¢4

This is the general solution.

Exercise 6.3 | Q@ 2.08 | Page 201

Solve the following differential equation:

B edy
dx dx

SOLUTION

dx E
dy dy
3 2
= 4+x 2
Y T i T &
dy
9 2
=11 —_—
hi ( +x ) I
1 dx = id}f
1+ x2 y?

Integrating both sides, we get

1
dx = -4
/K1—|—)c:2 /‘F Y

—2
tan 'x = I + ¢
1 1
tan " x = —— + 1
2y

2y2 tanTx=-1+ 2c1y2
~2y?tan x + 1 = cy?, where ¢ = 2¢;

This is the general solution.
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Exercise 6.3 |  2.09 | Page 201

Solve the following differential equation:
26 T Wdx — 3dy = 0

2¢* T W dx — 3dy = 0
~2e%-e¥dx — 3dy =0

3
" X _—— —_—
. 2etdx 2 dy =0

Integrating both sides, we get

2/@1-::]_): — Bfe_zydjr =

=2y

- 2e*—3.

~4e* + 307 = 2¢

- 4e* + 3¢ — ¢, where ¢ = 2¢4.
This is the general solution.

Exercise 6.3 | 2.1 | Page 201

Solve the following differential equation:
dy
dx

= e~ 7Y 4 x%¥

Cdy
Cdx

%dy = (e* + x*)dx

eX.ef +x2. 0¥ = e’ (e* —I—:{2)

e

Integrating both sides, we get

velocity coaching classes, chandrapur



cracknta.com

=3¢+ 36V + x%° = - 3¢y

~3e%+3eY +x° =c wherec = - 3¢y

This is the general solution.

Exercise 6.3 | Q 3.1 | Page 201
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For the following differential equation find the particular solution satisfying the

given condition:
3eXtany dx+ (1 +eX)sec?2ydy =0, whenx=0,y=Tr.

SOLUTION

3e¥tany dx + (1 + ) sec? ydy = 0, whenx = 0,y = 1.

3e* dx + sec’y

dy = 0
1+ e* tany

Integrating both sides, we get

e* sec?
3[ dx + f ydy = C1
1+ e® tany

Each of these integrals is of the type

f fff{(;} dx = log|f(z)| + ¢

~. the general solution is
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3log |1 + € + log |tan y| = log ¢, where ¢4 =log ¢

~log|(1+ e *tany| = log c
~(1+e)tany=c

Whenx =0, y = m, we have

(1 + e':']?’ tanTm = ¢

nc=0

*. the particular solution is (1 + &%)

Exercise 6.3 | Q 3.2 | Page 201

tany =0

%@Ci TY

JEE-NEET COACHING

For the following differential equation find the particular solution satisfying the

given condition:

(x —yzx)dx — (}r—l- xgy)d}r = 0,whenx=2,y=0

(:{ — ygx]dx — (y—l— ng]dy =0,whenx=2,y=0

ax(1-y?)dx-y(1+x)dy=0

X Y
dx — dy =0
1+ x? 1 — y2 Y
2 2
. dy =0

1+x2 142

Integrating both sides, we get

2 —2
f x dx—l—/ 'Y::lyzcl
1+ x2 1—y?

Each of these integrals is of the type
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f1(x)
f i) dx = log|f(x)| + ¢

- the general solution is

log |1 + x%| + log |1 - y?| = log ¢, where cq=logc
~log |(1 +x3)(1-y%)| =log c

(1 +x)1-yd) =c

When x = 2,y = 0, we have

(1+4)(1-0)=c

nc=5

.. the particular solution is (1 + x2)(1 - yg] = 5.

Exercise 6.3 | Q 3.3 | Page 201
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For the following differential equation find the particular solution satisfying the

given condition:

dx
y(1 —I—]Dgx)d— —xlogx =0,y =e®, whenx = e
¥

SOLUTION

d
y(1+ lﬂgx)£ —xlogx =10

1+1 d
ﬂdx Yy
X log x v
Integrating both sides, we get
1+1 d
/ﬁdx— o )
x log x y

Putxlogx=t
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d d
Then [x : E(]Dg x) + (logx) - E(x)] dx = dt

g [E + (logx}(l}] dx = dt

. /l—l—logxdx ] = log|t| = log|xlog x|
x logx

- from (1), the general solution is
log |x log x| - log |y|] = log ¢, where ¢q = log ¢

x log x

= log =logc
x log x
: —c
¥
soxlogx = cy

This is the general solution.

Now, y = e, whenx = e

~eloge = ce?
1=ce
1
D= =
e
: L 1
- the particular solution is x log x = (—)}r
e
oy =exlog x

Exercise 6.3 | Q 3.4 | Page 201
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For the following differential equation find the particular solution satisfying the

given condition:

dy T
e’ +1)cosx + e’ sinx— = 0, whenx = —,
( ) i oY
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) ! dy
e 4+ 1)cosx +e¥sinx— =0
(@ +1) v

COSX e¥
: dx +

sin x ey +1

dy =0
Integrating both sides, we get

COS X ey
dx + dv = ¢
[sinx /ef—i—l Y !

d :
Now, E(Siﬂ}{) = COS X, E(e-" +1) =e¥ and

f@d—l fx)] +
f(]{:] X = Gg|{}<]| C

- from (1), the general solution is
= log |sin x| + log |e¥ + 1] = log ¢, where ¢; = log ¢
~sinx- (e +1)=c

When x = g,y = 0, we get

(Sizﬂ)(eﬂ—l-l] —¢c

.'.c:%{l—l—l)z\/i

. the particular solution is sin x-(e¥ + 1) = v/2

Exercise 6.3 | Q 3.5 | Page 201
For the following differential equation find the particular solution satisfying the
given condition:

d
(:ﬁ{—l—l}ajr —1=2e ¥,y =0 whenx=1
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SOLUTION
dy i
X+1)=— —1=2e""
(x+1)—
dy 2
c(xFl)—=—+1=(2+e7
()T == +1-(2+e7)
¥ 1
P dy = dx
2+eY x+1

Integrating both sides, we get

/ - / 1
dy =
24+ e7Y x+1
f1(y)

d i
cwlogl2+ e =logx+1|+logc ...|l..—(2+¢e') =e" and ——dy = log|f(y)| + ¢
dy f(y)

dx

~log |2 +e¥] =loglc(x+ 1)
L2+el=cx+1)
This is the general solution.

Now, y = 0, when x = 1

n2+el=c(1+1)

L3 =2c
3
L Cc= —
2

. L 3
~. the particular solution is 2 + e¥ = E(x +1)

S22+ )= 3(x+ 1)

Exercise 6.3 | Q 3.6 | Page 201

For the following differential equation find the particular solution satisfying the
given condition:

. i
cos(—y) =a,ac R,y(0) =2
dx
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dy

cos| — | =a
dx

dy 1

. —— = C08 a

dx
- dy = (cos™! a) dx

Integrating both sides, we get

[dy = (cos_l a) /dx

~y=(cosTa)x +c

.-.y:xcos'ja+c

This is a general solution.

Now, y(0) = 2, i.e.y = 2, whenx =0
n2=0+cC

LCc=2

.. the particular solution is

1

y =XcCos 'a+2

.-.y—2:xcos'1a

¥y —2 1
: —cos a
X

-2
cn::-s('-‘jr ) = a.
X

Exercise 6.3 | Q 4.1 | Page 201

Reducethe following differential equation to the variable separable form and
hence solve:

d

v cos(x +y)

dx
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Putx +y=u. Thenl—l—ﬂ =E
dx dx
Cdy du_l
dx dx
= (1) becomes, ﬂ —1=cosu
dx
" E =1+ cosu
dx
" ;du = dx
1+ cosu

Integrating both sides, we get

1
f—du=/::bc
1+ cosu
1
.-./—du=fdx
2(:052(1)
—/sec du—/dx

1 tan(%)
e E

1 =X+cC
2
~tan (("x + y")/2) =x+ ¢

This is the general solution.

Exercise 6.3 | Q 4.2 | Page 201
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Reducethe following differential equation to the variable separable form and

hence solve:

d
S LU
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d
g Ay 9
- — =a° .. 1
(x-y)' =2 (1)
Putx-y=u
X-U=y
1 du dy
dx dx
2 du 2
(1) becomes, u“*|{1— — | = a
dx
d
02— 228 2
dx

du
st —at=uwr—

dx

12

sodx = du

a2 — a2

Integrating both sides, we get
(u2 — a,z) + a?
/dx = / NCR du

d
.-.x:/Idu+32/ 5 1 >+
ms — 4a

11
—1lo
2a,g

m-a

+C]_
u-+ a

.-.x:x—y+%10g .

a
o +y = E].Dg

‘|‘C]

X-y+a

X-y-a

X-y+a
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2Cq + 2 | A

- 2C = alog | ———

! Y J X-y+a

- Cc+ 2y =alog x-y-a , where ¢ = - 2¢;
X-y+a

This is the general solution.

Exercise 6.3 | Q 4.3 | Page 201
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Reducethe following differential equation to the variable separable form and

hence solve:

X+ y% = sec(xﬂ + yz)

d
X+ yd—i = sec(}c:2 + yg) (1)

Putx2+y2:u

S dy du
S _— = —
}Ft:b: dx
dy 1 du

Xt Yy— = — - —

dx 2 dx
()b 1 du B
- ecomes, 5 dx = secu
1

secu

= 2.dx

Integrating both sides, we get
| cosudu=2 [ dx
Lsinu =25+ ¢

2

cosin (X +y2]:2x+c

This is the general solution.
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Exercise 6.3 | Q 4.4 | Page 201

Reducethe following differential equation to the variable separable form and
hence solve:

dy
2
S2y)=1-2-—2
cos”(x - 2y) I
SOLUTION
dy
2 ‘ :
-2y)=1—-2— .. 1
cos”(x - 2y) . (1)
dy du
Putx-2y=u.Then1-2— = —
utx - 2y = u. Then Ix o
d
=~ (1) becomes, cos’u = S
dx
1
~odx = du
cos? u

Integrating both sides, we get
[ dx = [ sec?u du

LX=tanu + c

Lx=tan (x-2y) +c

This is the general solution.

Exercise 6.3 | Q 4.5 | Page 201

Reducethe following differential equation to the variable separable form and
hence solve:

(2x -2y +3)dx- (x -y + 1)dy =0, whenx=0,y=1.
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(2x-2y + 3)dx - (x-y + T)dy =0
Sx-y+ Ndy = (2x- 2y + 3) dx

dy 2(x-y+3)
Cdx (x-y)+1

Putx—y:u.Thenl—d—yzd—u
dx dx
4y _, du
dx dx
du 2u—+3
~ (1) becomesjl—dx= ——
~du 2u+ 3 u+1—2u—3
Cdx u-+1 - u-+1
~du —u—2 u-+ 2
Tdx u+1 :_(u—l—l)
-.u—l_zdu:—d}:
u+1

Integrating both sides, we get

2
f“+ du=—/1d:(
u-+1
.-./(u—l_g)_ldu:—fldx
u-+2

.-./(1— u—ll—Z)duz_/ldX

~u=loglu+2|=-x+c

ax-y-logx-y+2|=-x+c

L(2x-y)-loglx-y+2|=c
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This is the general solution.
Now,y =1, whenx =0
~(0-1)-log|0-1+2|=c
~-1-0=c

ne=-1

. the particular solution is

(2x-y)-log|x-y+2|=-1

n(2x-y)-loglx-y+2|/+1=0

Exercise 6.4 | @ 1 | Page 203

Solve the following differential equation:
xsin(z)dy = [}rsi_n(z) — }d:{
X X

SOLUTION

dx XSiﬂ(%)
Puty = vx
dy dv
L— =V+X— and — =V
dx dx X
dv VX sin v-X

- (1) becomes, v + x = -
X sinv

d ' —1
L v vsin(v — 1) Ly

dx sin v
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dv vsinv-1l-vsinv —1
X = =
dx sinv sin v
1
ssinvdv = ——dx
X

Integrating both sides, we get

1
fsinvdvz —/—dx
X

s-cosv=-logx-c
.. COS (E) =logx+c
X
This is the general solution.

Exercise 6.4 | (0 2 | Page 203

Solve the following differential equation:

x° + y9)dx - 2xy dy = 0

SOLUTION

(X2 + y9)dx - 2xy dy = 0

= 2xy dy = (x2 + y2)dx

o dy x2 + y? )
Cdx 2xy
Puty = vx

d
d—i = v + xdu/dx

du x? + v2x?
~ (1) becomes, v + x =

dx 2x(vx)
du B 1+ v2
dx  2v

LVHX
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dv 1+ v2 1+ v2—2v?
X = — v =
dx 2v 2v
dv 1—v2
"X —
dx 2v
2v 1
i dv = —dx
1 — v2 X

Integrating both sides, we get

fr(x)
f(x)

d
~-log|1-v¥=logx+logcy .. { d_(l — vg) = —2v and / dx = log|f(x)| + c]
v

x> —y? =cx wherec=

7]
2|~

This is the general solution.
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Exercise 6.4 | 3 | Page 203

Solve the following differential equation:

(1+2e?) 4 263 (1— f)ﬁ —0
y / dx
SOLUTION

(1—|—2e.%) + 2ev

L.-|;..
o
'—l
|

|
—
E-HC“
el
|
=

x
¥

" (l—l—Ze

) +2
. (l—l—Ze:r)

e-:\
,..-—--\
‘wle
—
I
=

X
Put — =nu
y
.'.,'.'{:L,I}"
_ dx _ad du
'd_‘,r ydy

- (1) becomes, (1 + 2e") (u + },?) +2e"(1—u)=0
Y

d
u+ 2ue" + y(1+ 2e“]d—u + 2e" — 2ue" =0
Y

du
w(u+2e") +y(1+2e")— =0
(u+2e") +y(1+ 26"

Integrating both sides, we get
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1 1+ 2e"

/—dy + f du=c
v u + et

e

- log |yl + log Ju + 2e log ¢, where ¢y =log c ......

[ d;du(u + 2e") =14 2e" and /%du = log|f(u) + c|]

~log ly (u + 2eY)| = log ¢
~ylu + 2eY) = ¢
}r(E + Ze%) =c
y
SOX 2ye§ =C
This is the general solution.

Exercise 6.4 | O 5 | Page 203

Solve the following differential equation:

(%2 - yA)dx + 2xy dy = 0

(x2 - y9)dx + 2xy dy = 0

- 2xy dy = (x2 - y9)dx

o dy x2 —yg )
Codx —2xy
puty = vx

dy dv
“ax VTR

b . dv x? — v2x?
ecomes, vV + X =

dx —2x(vx)
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dv 1 —v2

dx —2v
dv 1 —v2 1— v2 4+ 2v2
" K s —_— "li,r —_—
dx —2v -2v
dv 1+ v2
-y _
dx -2v
—2v 1
dv = —dx
14 v2 X

Integrating both sides, we get

9
f vdv—/ B
1+ v2

ln}g|1 +v | = logx +logc,

{ £ —(1+ vg) — 2v and /‘[ff(x) dx = log|f(x)| + ¢

dx f(x)
1 : 1
A (o] = 10F C1X
St +
~ log — | =logc;x
o (3)
o 1
- lo = logc;x
g XE—I—}TE g 1
<2
i XE—EL}"'? = 01X
1
%2 —I—}'2 = —X
C1
1
x> +y2 =cxwherec= —
c1

This is the general solution.
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Exercise 6.4 | Q 6 | Page 203

Solve the following differential equation:

d 2
AR A

dx 2x-y
SOLUTION

d X -2
F_|_ y _
dx 2x-y

o dy X -2y
Cdx 2X -y

0 ...(1)

du X — 2vx
- (1) becomes, v + x— = —
dx 2X - VX

du (1—21;)
LV X— = —

dx 2 —v

_ dv_ 1—2v
"de_ Sy v
dv —1+2v—2v+v?

dx 2—v
dv v:—1

dx 2—v

2—v 1
: dv = —dx
v:—1 X
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Integrating both sides, we get

|/2_vdv—/udx

v-1 1
2:><—l-::u — Zlog|v? — 1| = log|x| + logc
log|— +1‘2 g| | = log|x| + log ¢,
d fr(x)
o —(v?*—1) = 2v and dx = log|f(x)| + ¢
[ L (v 1) [ = toglx)
v-1 1
- lo —log| (v — 1)2| = logleix
gvﬂ‘ g|(v" —1)7| = logleix]
v-1 1
- log . = log|c; x|
v+1 Jy2 -1
v-1 1
- =C1X
v+1 v _1
¥
; - = X
x t1 2
12
V-X X erx
y+x y2 — x2
y-X 5] 2
=c —x
y+x VY
y-X
c1Vy-x- (v +x)
j.r—l-x

2
fvz_

2 1
@——/ M @:f—@
2J) v2-1 X

3
LAY -x=ci(y+x)?
3
y-x=d(x+y)

Ly -x=cx+y)?, wherec = ¢}

Ly =clx +y)R X
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This is the general solution.

Exercise 6.4 | @ 7 | Page 203

Solve the following differential equation:

d
Xa}r —},T—I—XSill(%) =0

SOLUTION

d
= _y +xain(£) —0 (1)
X

dx

Puty = vx

I_lﬁzv_i_xd_v and ¥ —v
dx dx X

d
= (1) becomes, x(v + xd—v) —vx+xsinv=10
X

g AV .
LVE+HF X — —vx+xsinv=10
dx

gdv .
X — 4+ xsinv=20
dx
1 1
——dv+ —dx =10
sin v X

Integrating, we get

1
.-./cosecvdv—l—/—dx=c1
X

~. log|cosec v - cot v| + log|x| = log ¢, where ¢; = log ¢

- log|x(cosec v — cot v)| = logc
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~. log|x(cosec v — cot v)| = logc

1 COSV
SoX - — — = C
sinv sinv

SX[(1-cosv)=csinv

x[1 - cos(L)] = cain(2)

This is the general solution.

Exercise 6.4 | Q 8 | Page 203

Solve the following differential equation:
(16 Jax+eF (12 ay —o
y

x x X
(1—|—er)cb:+er (1 — —)dyzﬂ
¥

X C]_}( X
(1 + e¥)_ +ev (1 — f)d}r —0 .(1)
dy y
x

y
X = uy
dx L, du
dy dy

». (1) becomes, (1 + e") (u + },%) +e'(l—u)=0
y

d
.-.u—l—ue“—l—y[l—l—e“)d—u +e" —ue" =10
y

du_

—0
dy

s(u+e”)+y(l+e")

/\Zi@Ci TY
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d 1+ e"
Y + re du =0
\i u+ et
d 1+ e"
.-./l+f T qu=c .
v u+ et
fr
i(u—i— e") =1+e" and / () du = log|f(u)| + ¢
du f(u)

. from (2), the general solution is

log |y| + log |u + e"| = log ¢, where ¢; = log ¢

~logly (u+eY)| =logc
~ylu+e)=c
X X
}r(— —I—EJ') = C
y
SOX ye% =c
This is the general solution.

Exercise 6.4 | Q9 | Page 203

Solve the following differential equation:

dy dy
2 2
X' — = Xy—
Y x Y ax
dy dy
2 2_: el
Y dx
dy dy
2 2
2 pxy—L =
dx ydx Y
d
(xg—l—xy)i:}f?
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dy  y? -
dx x24+xy
Puty = vx
dy dv
— —v4+x—
dx | dx
dv vix? v2

= (1) becomes, v + X = =

dx x? 4+ x-vx 1+v

dv v2 vZ—v—v?
X = — v =

dx 1+v 1+wv

dv —V

X —

dx 1+v

1 1
g +vdv=——d:{

v X

Integrating, we get

Integrating, we get

fl—i_vdv— / dx
[
[ av frav= [ Lan

~log vl +v=-log|x| +c

= log ‘l‘ + ¥ = —log|x| + ¢
X X
o y _
~logly|-log x|+ = =-log|x| + ¢
X
2 +logly| = ¢
X

This is the general solution.
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Exercise 6.4 | O 10 | Page 203

Solve the following differential equation:

d
X}fgy =x"+2y°,y(1) =0

dy 9 9
— —x®+2y%,y(1) =0
Fa ¥y, y(1)

~dy x? + 2y?

Tdx Xy (1)

Xy

Put Then B _ o 4 4¥
uty = vx. Then — =v + x—
Y dx dx

dv x? 4 2vix? 1+ 2v2

=~ (1) becomes, v + x = =

dx X - VX v
dv 1+ 2v 1+2v: —v2
”Xd:(: v VT v
- dv 1+ v?
"de: -
P dv=ldx
1+ v2 X

Integrating, we get

1
/ v -::lv=/—dx
1+ v2 X

1 2v 1
.-.E/1+v2dv=/;d:{—l—lngcl

1
Elng|l + v2| = log|x| + log ¢,

log|1 + v2| = 210g|x2| + 2log cf

where ¢ = ¢?

log|1 + v2| = ]cng|ec)«:2

?

%@Ci TY
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R +v2:cx2
2
1—|—'-}T—2=c}z2
X
x? + y? 2
= CX

~ X2+ jr2 = cx?

This is the general solution.

Now, y(1) = 0, i.e. whenx = 1,y = 0, we get
1+0=c(1)

=1

- the particular solution is x2 + yg — x*

Exercise 6.4 | Q 11 | Page 202
Solve the following differential equation:

xdx + 2y dx =0, whenx =2,y =1

SOLUTION

xdx +2ydx =0

soxdy = -2y dx
1 —2
oo—dy = —dx
v X

Integrating, we get

1 1
/—dyz —2/—51}:

y X
~logly]l =-2log x| + log c

~log ly| = - log || + log ¢
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c
- log ly| = log —
X
_c
1.';'"‘ - X2
L XY = C

This is the general solution.

Whenx =2,y = 1, we get

.. the particular solution is
){2}: = 4,

Exercise 6.4 | Q 12 | Page 203

Solve the following differential equation:

d
x?—}r =}c2-|—:nc:)r—|—}r2
SOLUTION
dy
2 2 2
X'— =x"+Xxy+
dx Xy ¥y
_ dy_xﬂ—l—xy-l—}rz ()
' x 2
Puty = vx
dy dv
S =V+X—
dx dx

dv x4+ x-vx + v2x2

~(Mb .V + =
(1) becomes, v xdx 2
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dv 93
SVHEX—=14+v+v

dx
dv |42
S — = v
dx
1 1
dv = —dx
1+ v2 X

Integrating, we get

1 1
[ dv=/—dx
14 v2 X

~tan-1v =log [x] + ¢

» tan’] (l) = log|x| + ¢
X
This is the general solution.

Exercise 6.4 | O 13 | Page 203

Solve the following differential equation:
(9% + 5Sy) dy + (15x + 11y)dx =0

(9% + S5y) dy + (15x + 11y)dx =0
S (9% + 5y) dy = - (15x + 11y) dx

dy  —(15x+ 11y)
Cdx 9x + by
Puty = vx

dy dv
= v4+x—

dx | dx

dv —(15x + 11
=~ (1) becomes, v+ x = ( Y)
dx 9x + by
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N dv. —(15+ 11v)
SOV X =
dx 9+ Hv
dv.  —(15+ 11v) —15 — 11v — 9v — 5v?2
LV X = — V=
dx 9+ 5Hv 9 + 5v
L v o5V -20v—15 5V 4 20v+15
O dx 9 + 5v 5v+9
v+ 9 1
" dv=——dx ..(2)
av: + 20v + 15 X

Integrating, we get

1 5v+9 M——/lh
5J vi4+4dv+3 X

5v+ 9 - hv+ 9 - A . B
v 4 4v+ 3 (v+3)(v+1) v+3 v+1

Let

SOv+9=Av+1)+Blv+3)
Putv+ 3 =0 iev=-3 weqgwr
- 15+ 9 = A(- 2) + B(0)

LB =-2A

~A=3
Putv+1=0ie.v=-1 weget
-5+ 9 = A(0) + B(2)

4 =2B

~B=2
. B5v+9 3 N 2
"v244v+3 v4+3 v+1

=~ (2) becomes,
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1 3 2 1

— f + dv = — f —dx

H v+ 3 v+1 X

2 1 1
—/ +—f dv=—/—dx
v+ 3 5 v+1 X

- —l-::ng|v—i-3| - —lc-g|v+ 1| = —log|x| + ¢

~3loglv+3]+2log|v+1]=-5logx+ 5cq
log‘(v + 3)3‘ + ll::-g;‘(w.r + 1)2‘ = — log|x5| + log c, where 5¢; = log ¢

log‘(v +3)* (v + 1)2‘ = log iﬁ
X

(43 (v+1)? = %

3 2
(E+3) ($+1) ==
X X x?
S(x+y)’Bx+y)’ =c
This is the general solution.

Exercise 6.4 | Q 14 | Page 203

Solve the following differential equation:
(2 + 3xy + y2)dx - x° dy = 0

SOLUTION

(x2 + 3xy + y2)dx - x2 dy = 0

x2 dy = (X2 + 3xy + y2)dx

dy x2 + 3xy + y°
: = > (1)

S dx X
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Puty = vx
dy dv
— =v4+x—
dx | dx

dwv x2 4+ 3x - vx + v2x2
5 (1) becomes, v + x =
dx x2

d
.-.w.r—|—:nc—v=1—|—3ﬂ.r—|—1,r2
X

dx 2 2
X v 2v ("V )

(v+1) X

Integrating, we get

f(v—l— 1)_2dv= /%dx

v+ 1)!
L loglx| +
o ———— = loglx| + ¢
v+ 1 & !
L jogx| +
— = log|x| + ¢
l—|—]_ g 1
X
* log|x| +
— = log|x| 4+ ¢
y+ X & !
X
log|x| + = —¢
X+y
X
- log|x| + = ¢, where c = - ¢4
X+y

This is the general solution.
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Exercise 6.4 | Q 15 | Page 203

Solve the following differential equation:
(x? + y9)dx - 2xy dy = 0

SOLUTION

(X2 + y9)dx - 2xy dy = 0

= 2xy dy = (%2 + y2)dx

Cdy x2 + y? )
dx 2Xy
Puty = wvx

d
d_i = v + xdu/dz

du x? 4+ v2x?2
- (1) becomes, v + x =

dx 2x(vx)
du 1+ v2
LV4HX =
dx 2v
dv 1+ v2 1+ v2—2v?
X = — v =
dx 2v 2v
dv 1—+v2
X =
dx 2v
2v 1
dv = —dx
1—v2 X

Integrating both sides, we get

fr(x)
f(x)

d
~-log|1-v¥=logx+logcq ... { o (1-+v*) = —2v and / dx = log|f(x)| + c]
v
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- log

1
“x2—y?=cx wherec= —

C1

This is the general solution.

EXERCISE 6.5 [PAGES 206 - 207

Exercise 6.5 | 4 1.01 | Page 206

Solve the following differential equation:

d

T Y 83

dx x

dy 'y _ 3

L+ L =-x*-3 .

x X (1)

This is the linear differential equation of the form
d 1
—F+P-F=Q,whereP= —andQ=x"—-3
dx X

L F = el PiE — of 39

_ elﬂgx —
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.. the solution of (1) is given by
y(LF.) = [ Q. (LF.)dx + c4

.'.}f-}{z/(xg—?.)xdx—I-q

LXY = f(x‘l — 3x)dx + ¢

x? x?2

.'.X}T=?—3'?+Cl

x2 3x2 H
So— — — — XYy =C wnerec=-cC
5 2 Y L

. This is the general solution.

Exercise 6.5 | Q 1.02 | Page 206

Solve the following differential equation:

cos’ x - il + vy = tanx
dx

SOLUTION
9 ¥
COos“X-— +v=tanx
dx Y
dy 1 tanx
- + . y —
dx cos?x cos? x
d
&y + sec’ X - y=tanx- sec’ x (1)
dx

This is the linear differential equation of the form

&y +P.y=Q, where P = sec’x and Q = tanx - sec’ x

dx

- coc?
©|F = ol Pdx _ Efsec xdx _ tanx

.. the solution of (1) is given by
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y - (LF.) =fQ(I.F.]d}{—I-c
b - [tanx-secix-em”dx—kc

Puttanx =t
-~ sectx dx — dt

i =[t-etdt—i—{:

d
i =t/etdt—/[g(t)fetdt]dt—i—c
=t-et—fl-etdt+c

—t-ef —e +c

=e'(t-1)+c

nyce =" tanx— 1) +¢
This is the general solution.

Exercise 6.5 | Q 1.03 | Page 206

Solve the following differential equation:
dy

(x+2y3]£=y
d

(X-F—Eya)i =Yy

_ }{+2}’3 1
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X &

y dy

dy 1 x=2y> .1
dx vy

This is the linear differential equation of the form

dx 1
— +P-x=Q, whereP=——andQ = 2},2
dy .
s LE = e.rPd}' — ef—%.d}"
So= e logy _ Elﬂg(%) _ l

¥

. the solution of (1) is given by

- x-(LF.) — /Q(I.F.}dy te

1 1
.'.x(—) — nyE x —dy +c¢
y ¥

X
.-.—=2[ydx—|—c
y
2
st 2. 4o
v 2
.-.x:y{c+y2]

This is the general solution.

Exercise 6.5 | Q 1.04 | Page 206

Solve the following differential equation:

dy
— +y-secx =tanx

dx

SOLUTION
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dy
— + y-secx = tanx

dx

.-.E—I-(secx]-y:tanx ..... (1)
X

This is the linear differential equation of the form

d
Ey—FP-y=Q,wherePzgecxandQ:tanx

|LE. = E.I'Pd:[ _ Ej'secxdx _ log(sec x + tan x)

—seck + tanx

- the solution of (1) is given by

Y(F) = / Q- (LF.)dx + ¢
Sy (secx +tanx) = [ tan x (sec x + tan x) dx + ¢

s(secx+tanx)y = [ (secxtanx + tan?x) dx + ¢

So(secx +tanx)y = | (secxtan x + sec?x - 1) dx + ¢

S(secx+tanx)y =secx +tanx-x+c
Ly(secx+tanx) =secx +tanx-x+ ¢

This is the general solution.

Exercise 6.5 | Q 1.05 | Page 206

Solve the following differential equation:

d}' 9
— +2y=x"-1
X v=x" -logx
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dy 9
— 4+ 2y=x"-1
X x“ - logx

c d}r + (Z) y=x-logx ..(1)

dx X

This is the linear differential equation of the form

d 2
dx x
CF = elPdx _ offdx _ g2 [3dx

2
_ E?lﬂgx _ Elngx _ }IE

.. the solution of (1) is given by

y- (LF.) = /Q (LF.)dx +c
.'.y-xzzf(xlogx)-xﬂdx+c

.-.xgvyzfxgvlogx dx +c

= (logx)fxgdx—[{%(logx)fxgdx]dx—l—c

4 1 4
= (logx) - ——/— %d}{—l—c

=—x *logx — —/ x*dx + ¢

2
U el =—}: 41lo }c—— —-I—C
Y 4 & 4

4

4 2

5 x logx x
LXKy = — +c

Y 4 16

This is the general solution.
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Exercise 6.5 | Q 1.06 | Page 206

Solve the following differential equation:

d
(x+y) o> =1
dx

d
{X+HJ£=1
.-.E=x—|—y

dy

dx
-.d—y—){:y

dx

This is the linear differential equation of the form

dx
— +P-x=Q,whereP=-1andQ=y
dy

IF.=elPdY — o) -1y _ o-¥

.. the solution of (1) is given by

x.(L.F.) = /Q -(LF.)dy + ¢

LX-e ¥ = /}f e Ydy +c¢

e ¥.x=y fe_:”dy — f{% (¥) fe_f"dy] dy +c

e ¥ e 7
=y-— — | 1-—dv+c¢
SN

= —ye ¥ + /e_f'rd}f +c
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E_Y-x=—ye_j‘r—|—e_—_:—|—c
e V.x+ye Y +e ¥ =c
ce¥(x+y+1)=c
ax+y+1=ce

This is the general solution.

Exercise 6.5 | Q 1.07 | Page 206

Solve the following differential equation:

dy 5
+a)— — 3y = +
(x+a) L — 3y — (x+a)

SOLUTION

{x—l—a)d—y—Syz[x—l— a)’

dx
’ ji " (X:—Sa )y = a)t 0
This is the linear differential equation of the form
d—yﬁ—P-y:Q,whereP: 7 and Q = (x + a)*

dx X+a
' -3 1
- LF. :e.de:[ :EJ xladx = e_gj ::|,~;':hC

3

_ E—E log|x +a] __ elﬂg{x + a)

1

—(x+a) = —
=(x+a) (:{—I—a}g

.. the solution of (1) is given by
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v (LF.) — fQ (LF.)dx +

1 ] 1
..}r-m=/(x+a) vmdx—l—c

S — =/(X—|—a)dx—|—c

B {x—|—a)3
9
y X+ a
= +c
{x—l—a)3 2

s2y = 1[:<+a}5 +2c(x+ a]?"

This is the general solution.

Exercise 6.5 | Q 1.08 | Page 206

Solve the following differential equation:
dr + (2rcot 6 + sin28)d6 =0

SOLUTION

dr + (2rcot 8 + sin 28) dB = 0

d
d—; + (2rcot + sin20) = 0
&L 2cot)r— —sin20 (1)
AT cotf)r = —sin28 ..
This is the linear differential equation of the form
dr

— +P-r=Q, whereP=2cot6and Q = - sin 26

de
S LF = E'rP de __ ej'ecatﬂdg

_ e? Jcotéde __ e?lﬂgsmﬂ

L2
_ elug[bm 8) _ 5'1]12 g
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.. the solution of (1) is given by

r-(LF.) = f-(I,F.)dE-' +c
~T-sin?f = /— sin 260 - sin? 8d@ + ¢

~T-sinf = /—ZSinE‘cosQ . sin® df + ¢

~T-sin?f = —2/sin39c059 df + ¢
Putsin 6 =t

~ocos 0.dB = dt

. T-sin’f = —2/t3dt—|—c

t4
.-.r~sin29=—2vz+c

.'.r~sin29=—55in49+c
.4
sin~#@
~T-sin?@ + 5 =

This is the general solution.

Exercise 6.5 | Q 1.09 | Page 206

Solve the following differential equation:

ydx+ (x-y9)dy =0
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ydx+ (x-y9)dy=0

~ydx = - (x - y?) dy
o dx (X‘.‘f?)

This is the linear differential equation of the form

dx

1
— +P-x=Q,whereP=—andQ=y
dy y

' "1
.=l P _ of ydy _ Glosy _ y

. the solution of (1) is given by

x- (LF.) — /Q (LF.)dy + ¢

.xy=/yvjrdjr—l—-::1
.xy=/y2dy—|-c1
3
.xy=%—|—c1
v
Y = xy + ¢, where c = -¢4

This is the general solution.

Exercise 6.5 | Q 1.1 | Page 207

Solve the following differential equation:

(1 — 12)% + 2xy = x(l — x?)%

velocity coaching classes, chandrapur



cracknta.com

(1_){2)3_.? + 2xy =x(1—:~:2)%
X

dy ( 2x ) X
L= 4 y=—r
dx 1—x2 (1-x2)7

This is the linear differential equation of the form

d
—F—i—P-jr:Q,whereP: gand(}: 1
dx 1 —x (1—x2)?

. v O
L LF = efPdx _ o) 7mdx

— o J 1 ?2 = a l°g|1_x2|
1 —x?

.. the solution of (1) is given by

Put1-x% =t
dt
¥xdx=- —
2
y 1 —dt
T [ = 5 ¢
1
1 et
— X

2x X

%@Ci TY
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11— x? 2 1
.y !
1 x2 (1_]{2)31

.-.y:xfl—xﬂ—l—c(l—xﬂ)

This is the general solution.

Exercise 6.5 | Q 1.11 | Page 207

Solve the following differential equation:

(1+:=c2)E +y=elan X

dx
d}" 1
1+x%)—=+y=e" ¥
(L) -+
. dy . 1 B elan 'x -
ax 1+ Y 14w 7
This is the linear differential equation of the form
dy 1 atan 'x
— +P-y=0Q,whereP = and Q =
dx y=Q 1+ x? 1+ x2
LIF = el PI o f e
_ ofan 'x

.. the solution of (1) is given by

y-(LF.) = /Q (LF.)dx +c

. etanlx )
L y-edt x=f1+ gvet‘m *dx + ¢
X
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tan-! t2
P
Y 2
I._}r'etaﬂlz-::i (etanlx)g_'_c
2
1

1 _ 1
-'-}":E*Etan X1 oce tan™ " x

This is the general solution.

Exercise 6.5 | Q 2| Page 207

Find the equation of the curve which passes through the origin and has the slope x + 3y
- 1 at any point(x, y) on it.

SOLUTION

Let A (%, y) be the point on the curve y = f(x).
. dy
Then slope of the tangent to the curve at point A is —.

According to the given condition,
dy
—~ —x+3y—1
. y
dy

L— —3Jy=x-1 ..
I VX (1)
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This is the linear differential equation of the form

d
§+Py=Q,whereP=—BandQ=x—1

S LE = ej'de _ Ef—de _ E—Rx

.. the solution of (1) is given by

WHFJ=[Q{MU@+E

Ly-eE = f(:{— 1)-e Xdx +c

;eﬂxy_.x]_f /l (x-1) /e4w4dx+q

[le L dx—i-cl

Le Ty =(x-1)-

1 1 e ™

—3x —3x

e T y=——(x-1)e "+ — +c

y 3( ) 3 3 1
1 1

ey = _E(X_ e ™ — —e ¥ 4 ¢

~ 9y =-3(x-1)-1+9c -e~x

2Oy +3(x-1)+1=09¢c -~

~Oy+3x-3+1=0c¢c -~
3(x+3y) =2 +9c; - %

L3x+3y)=2+c- e where ¢ = 9¢ ...(2)

This is the general equation of the curve.

But the required curve is passing through the origin (0, 0).
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.. by putting x = 0 and y= 0 in (2), we get

D=2+cC

Lc=-2

. from (2), the equation of the required curve is

3(x + 3y) = 2 - 2%

ie. 3(x + 3y) = 2(1 - ).

Exercise 6.5 | Q 3 | Page 207

3
Find the equation of the curve passing through the point (7, x/i) having a slope of the tangent to the curve at
2

, . 4x
any point (x, y) is -—.
9y

SOLUTION

Let A(x, y) be the point on the curve y = f(x).
Then the slope of the tangent to the curve at point A is —y.

According to the given condition

dy 4
dx 9y

4
ydy:—ax dx

Integrating both sides, we get

4
/ydy=—§/xdx

v 4 x?
Al =—— . 4¢
2 9 2 !

2 Oy% = - 4% + 18¢4
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R 9y2 = cq wherec = 18¢cy  ...(1)
This is the general equation of the curve.

3
But the required curve is passing through the point (7, \@)

3
- by puttingx = — andy = V2in (1), we get
V2

3 \? 2
4(%) —I—Q(\/E) =c
~18+18=¢c
soc=36

- from (1), the equation of the required curve is 4x% + 9y = 36.

Exercise 6.5 | Q 4 | Page 207
The curve passes through the point (0, 2). The sum of the coordinates of any pointon
the curve exceeds the slope of the tangentto the curve at any pointby 5. Findthe

equation of the curve.

SOLUTION

Let A(x, y) be any point on the curve.
Then slope of the tangent to the curve at point A is a}r

According to the given condition

dy
= — +5h
X+y +
dy -
— —V =X- (1
dx y=x=9 L

This is the linear differential equation of the form
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d
£+P-y=Q,whereP=—1andQ=x-5

IF. = el Pdx — of ~ldx _ ox

.. the solution of (1) is given by
y-(LF.) = /Q (LF.)dx +c

Lyce T = /{x -5)e *dx+c

Le Y.y = (1—5)/e_xdx—/|:%{x— EJ/E_de] dx + ¢

—X —X
.'.e_x-y=(x—5)~e —/lve dx +c

e_x-yz—(x—5]-e_x+/e_1d:(—|—c

—X

e Ty = —(x— 5)@‘1E + ¢ 1

ny=-(x-5-1+ce*

Ly =-x+5-1+cet

sy=4-x+ce*t (2

This is the general equation of the curve.

But the required curve is passing through the point (0, 2).
- by puttingx =0,y = 2in (2), we get

2=4-0+c

LC=-2
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- from (2), the equation of the required curve is
y=4-x-2e*

Exercise 6.5 | Q 5| Page 207
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If the slope of the tangentto the curve at each of its pointis equal to the sum of
abscissa and the product of the abscissa and ordinate of the point. Also, the curve

passes through the point (0, 1). Find the equation of the curve.

Let A (%, y) be any point on the curve y = f(x).

Then the slope of the tangent to the curve at point A is EF

According to the given condition

dy
" = +
X + Xy

dy
L XY =X 1

ax YT (1)
This is the linear differential equation of the form
dy

E—FP}*:QthereP:-xandQ:x

[Pdx _ Ej'—xdx e

~LF = e e 2

- the solution of (1) is given by

y-(LF.) = /Q (LF.)dx +c

2
= =/X-E_de—|—c

I‘\:lle

Ly-e

_x
3

Soe

=
-y=/x-e_Td:{—|—c
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9
Put—.— =1
-x dx = dt
xdx =-dt

2
e T .y= —e*+c¢
12 I.ﬂ
e 7T .y=—e 2 +¢
2
~y=-T+ce?
x2
L1 +y=ce? e 2]

This is the general equation of the curve.

But the required curve is passing through the point (0, 1).

. by puttingx =0and y = 1in (2), we get
1T+1=c

=2

.. from (2), the equation of the required curve is

=
2

T+y=2e7,

EXERCISE 6.6 [PAGE 213

Exercise 6.6 | Q 1| Page 213

In a certain culture of bacteria, the rate of increase is proportional to the number
present. If itis found thatthe numberdoublesin 4 hours, find the number of times the
bacteria are increasedin 12 hours.
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Let x be the number of bacteria in the culture at time t.

d
Then the rate of increase is i which is proportional to x.
dx
— X X
dt
dx
- — = kx, where k is a constant
dt
dx
o — =kdt
X

On integrating, we get

dx
f—=k[ldt—|—-::
X

~logx=kt+c

Initially, i.e. whent =0, let x = xg
|Dg}{D:|(XD+C
- ¢ =log xy

~ log x = kt + log xq

.. log x - log xg = kt

1og(xin> —kt (1)

Since the number doubles in 4 hours, i.e. when t = 4,

X = 2Xq

2
log(ﬂ) = 4k
X
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1
k=~ 1log2
1 09

X t

= (1) becomes, ]Dg(—) = 1 log 2

X0

When t = 12, we get

12
lng(i) = —log2=3log2
X 4

log(i> = log 8
Xo
X

SR = 8}({)

. number of bacteria will be 8 times the original number in 12 hours.
Exercise 6.6 | Q 2| Page 213

If the population of a country doubles in 60 years; in how many years will it be triple
(treble) underthe assumption that the rate of increase is proportional to the number of
inhabitants?

(Given log = 20.6912, log 3 = 1.0986)

SOLUTION

Let P be the population attime tyears. Then dP/dt, the rate of increase of population is
proportional to P.
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dP
—ox P
a
dP
.. — = kP, where k is a constant
dt
dP
oo — = ko dt
P

On integrating, we get

dP
?Zk/dt+ﬂ

logP=kt+c

Initially, i.e. whent =0, let P = Pg
. logPy=kx0+c

.. ¢ = log Py

. log P =kt + log Py

.. log P - log Pg = kt

1og(P£D) =kt ..(1)

Since the population doubles in 60 hours, i.e. when t = 60, P = 2P
2Py
~log| —— | = 60k
g( Py )
1
~k=—log2
60 J

P t
~(Mb .1 — ) = —log?2
(1) becomes Dg( P, ) P 0og

When population becomes triple, i.e. when P = 3P, we get
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log(glfu): : log 2
0 60

t
mlog3 = — ) log2
. (ﬁﬁ ) .
log 3 1.0986
St =60 = 60
log 2 0.6912

= 60 x 1.5894 = 95.564 = 95.4 years

.. the population becomes triple in 95.4 years (approximately).

Exercise 6.6 | Q 3| Page 213

If a body cools from 80°C to 50°C at room temperature of 25°C in 30 minutes, find the
temperature of the body after 1 hour.

Let 8° C be the temperature of the body at time t minutes. Room temperature is given to
be 25°C.

Then by Newton’s law of cooling, d®/dt the rate of change of temperature, is
proportional to (6 - 25).

e 4o x (6 — 25)
dt

de
T = - k(B -25), wherek > 0

do = - kdt
#— 25

On integrating, we get

1
a6 — —k [ dt
fa—zﬁ / e

s log (B-25)=-kt+c

Initially, i.e. whent = 0,6 = 80
~log(B80-25)=-kx0+c . c=logh5
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- log (0 - 25) = - kt + log 55
~log (0 - 25) - log 55 = - kt

10g(€ _ 25) — —kt ..(1)

55
Now, whent =30, 0 =50

o0 — 25

1 5
tk= ——log( —
30 Dg( 11)

6 — 25 t 5
= (1) becomes, lo = —log| —
2 g( hbH ) 30 g( 11 )

When t = 1 hour = 60 minutes, then

L (6-25) 60 (5N (5
6\ s5 ) " 30 ®\11) "%\ 11
~ lo (9_25)—10(5)2
%8\ s B\ 11

6-25 (5\® 25
Cos5  \11/) 121

29 125

121 11

125 400
s 8 =25+ = = 36.36
11 11

8 — 25 =hhH x

~. B the temperature of the body will be 36.36° C after 1 hour.

Exercise 6.6 | Q 4 | Page 213
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The rate of growth of bacteria is proportional to the number present. If initially, there
were 1000 bacteria and the numberdoublesin 1 hour, find the number of bacteria after

2— hours.
2
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[Take V2 = 1.414]
SOLUTION
Let x be the number of bacteria at time t.

dx
Then the rate of increase is X which is proportional to x.

dx
S— X X
dt
dx
T = ke, where k is a constant

dx
— =k dt
X

On integrating, we get

[Tk fatre
X

~logx=kt+c

Initially, i.e. when t = 0, x = 1000

~log 1000 =kx0+c . c=log1000
~log x = ly + log 1000

. log x - log 1000 = kt

|og(F};U) Kkt .(1)

Now, whent=1,x=2 x 1000 = 2000

2000
log| —— )} =k ~k=log?
Dg(mnn) 9

. (1) becomes, log("x"/1000) =t log 2
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)
Ift = 2“l = i,then

2 2

X D 5
|(——j=—12=122
°9( Toog) = 1082 =log(2)
.:(E:)=(ﬂ%=4V§=4xLMA=5ﬁ%

1000

- X = 5.656 x 1000 = 5656

1
- number of bacteria after QEHDUFS = 5656.

Exercise 6.6 | Q 5| Page 213

The rate of disintegration of a radioactive elementat any time t is proportional to its
mass at that time. Find the time during which the original mass of 1.5 gm will
disintegrate into its mass of 0.5 gm.

SOLUTION
Let m be the mass of the radicactive element at time t.

m
Then the rate of disintegration is I which is proportional to m.

dm
L — X m
dt
d
am = - km, where k > 0
dt
d
S8 et
m

On integrating, we get

1
—dm=—k/dt—|—c

m
~logm=-kt+c

Initially, i.e. whent =0, m = 1.5
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1
—dmz—kfdt—i-c

m
~logm=-kt+c

Initially, i.e. whent =0, m = 1.5

3
~log(1.5)=-kx0+c .'.c:IDg(E)

3
~logm = -kt + log (E)

3
- logm - IDgE = -kt

2m
Sloe| L2 ) = -kt
”g(3)

1
When m =05 = E,then

: (Zx%)__k
Og 3 = t
1
| — | =-kt
o(3)

~ log(3)" = - kt
.. -log 3 = -kt
b= 11 3
“tE og

.. the original mass will disintegrate to 0.5 gm when t = Elﬂg?.

Exercise 6.6 | Q 6 | Page 213
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The rate of decay of certain substancesis directly proportional to the amountpresent at
that instant. Initially, there is 25 gm of certain substance and two hours later it is found

that 9 gm are left. Find the amountleft after one more hour.
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Let x gm be the amount of the substance left at time t.

Then the rate of decay is T which is proportional to x.

dx
SL— X X

dt
dx

E = - kx, where k > 0

1
so—dx = - kdt
X

On integrating, we get

1
f—d}s::—k/dt—i-c
X

~logx=-kt+c

Initially i.e. whent =0, x = 25
~log25=-kx0+c . c=log25
. logx = -kt + log 25
~logx-log25=-kt

X

- (—) — _kt ..(1
og o5 (1)

Now, whent=2,x=9

() -
5) =2ee(s)
)

.. —2k = log

k= —Iog(

U‘I|W e
[uk ) QWL
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X 3
< (1)b log(—-) = tlog( =
(1) becomes, log o5 Dg( 5)

When t = 3, then

3
X 3 3
log(ﬁ) = 310g(E) = log(g)

X 27 = 27

25 125 B 5
27

. the amount left after 3 hours = — gm.
51

Exercise 6.6 | Q 7 | Page 213

Find the population of a city at any time t, given that the rate of increase of population is
proportional to the population at thatinstantand that in a period of 40 years, the
population increased from 30,000 to 40,000.

SOLUTION
Let P be the population of the city at time t.

Then T the rate of increase of population, is proportional to P.

dP
. — x P
a
E = kP, where k is a constant.
dt
dP
so— =k dt
P

On integrating, we get

1
deP=k/dt+c

~logP=kt+c
Initially, i.e. when t = 0, P = 30000
-~ 1log 30000 =kx0+c . ¢ = log 30000
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- log P = kt + log 30000
- log P - log 30000 = kt

p
-1 —kt
o8 ( 30000 ) "

Now, when t = 40, P = 40000

40000
log( ) =k x 40
30000

1 4
k=—1 —
40 Dg( 3 )
P t 4 4\
. (1) becomes, ]Dg(E’-OUUD ) = E]Dg(g) = log(g)
s

P 4 a0
" 30000 (E)

w
- P = 30000 (%)

.. the population of the city at time t = 30000 (E)

L
40

Exercise 6.6 | Q 8| Page 213

A body cools according to Newton’s law from 100° C to 60° C in 20 minutes. The
temperature of the surrounding being 20° C. How long will it take to cool down to 30° C?

SOLUTION

Let 8°C be the temperature of the body at time t. The temperature of the surrounding is
given to be 20° C.

According to Newton’s law of cooling
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de
— oc 6 — 20
dt
4o _ —k(6 — 20), wherek > 0
dt
dé
= —kdt
g — 20

On integrating, we get

1
a0 = —k [ dt
/9—20 / e

~log (B-20)=-kt+c

Initially, i.e. whent =0,0 = 100

~log (100-20)=-kx0+c .. c=log80
- log (0 - 20) = - kt + log &0

- log (8 - 20) - log 80 = - kt

lﬂg( 6~ 20 ) = —kt ..(1)

80
Now, whent = 20, 8 = 60

60 — 20
]ug( ) = —k x 20
80

40
log(—) = —20k
80
1 1
sk gaa( =
20 Dg( 2 )

8 — 20 t 1
~ (N b 2l e, | s
(1) becomes Dg( =0 ) 50 Dg(z)

When 6 = 30, then
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—=3 ~t=60
20

. the body will cool down to 30° C in 60 minutes, i.e.in 1 hour.

Exercise 6.6 | Q 9| Page 213

A right circularcone has height9 cm and radius of the base 5 cm. It is inverted and
water is pouredintoit. If at any instantthe water level rises at the rate of (11/A) cm/sec,
where A is the area of the water surface A at that instant, show thatthe vessel will be

fullin 75 seconds.

SOLUTION

Let r be theradius of the water surface and h be the height of the water at time t.

- area of the water surface A = 1rr2 sg cm.

Since the heightof the rightcircular cone is 9 cm and radius of the base is 5 cm.
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Iy 5] 5

— = —

h 9 9

5 2
. area of water surface, ie. A = 11 (Eh)
257h?
= (1)
81

dh
The water level, i.e. the rate of change of h is — rises at the rate of (1) cm/sec.

_-::l]:L_?r T % 81

LSt _ LBy (1
R e B
~dh 81
S dt 9pp?

81
~ h%dh = —dt
25

On integrating, we get

81
[h%h:E/dtJrc

h® 81 .
Sem— = — C
3 25

Initially, i.e. whent=0,h =0

~0=0+c nc=0
_113_81t
3 25
When the vessel will be full, h = 9
3
9
{ } = 81 g
3 25
8l x 9 x 25
t= =75
3 % 81

Hence, the vessel will be full in 75 seconds.
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Exercise 6.6 | Q 10 | Page 213

Assume that a spherical raindrop evaporates at a rate proportional to its surface area. If
its radius originallyis 3mm and 1 hour later has been reduced to 2 mm, find an
expression for the radius of the raindrop at any time t.

SOLUTION

Let r be theradius, V be the volume and S be the surface area of the spherical raindrop
at time t.

4
ThenV = EME and S = 4mr?

The rate at which the raindrop evaporates is dV/dt which is proportional to the surface
area.

dVv
dt

ﬁ = - kS, wherek >0 ..(1)
dt

Now, V = E:rrr3 and S = 4mr?

C— = — r"— =4mr'—
dt 3 b dt
=~ (1) becomes 4mﬂﬂ = —k(f:hrrﬂ)
‘ dt

d
Sk

dt
~odr=-kdt

On integrating, we get

/dr=—k/dt—|—c

r=-kt+c

Initially, i.e. whent=0,r =3
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Whent=1,r=2

n2=-kx1+3
k=1
Lr=-t+3

nr=3-twhere0 <t<3.

This is the required expression for the radius of the raindrop at any time t.
Exercise 6.6 | Q 11 | Page 213
The rate of growth of the population of a city at any time tis proportional to the size of

the population. For a certain city, itis found thatthe constant of proportionality is 0.04.
Find the population of the city after 25 years, if the initial population is 10,000. [Take e =

2.7182]

Let P be the population of the city at time t.

Then the rate of growth of population is T which is proportional to P.

dP
s —x P
at >
dP
.. —— = kP, where k = 0.04
dt
dP
. — = (0.04)P
m (0.04)

- Lap = (0.04)at
P

On integrating, we get

/%dp _ (0,04}/dt+ c
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- log P = (0.04)t +c

Initially, i.e,, whent = 0, P = 10000
. log 10000 = (0.04) x 0 + ¢

.. ¢ = log 10000

- log P = (0.04) t + log 10000

. log P - log 10000 = (0.04) t

P
| — (0.04)t
o3 (10000) (0.04)

When t = 25, then

P
| — (0.04) x 25 =1
9 (10000) (0-04)

log ( P ) =loge ..[vloge=1]
10000
P
10000
- P =27182 x 10000 = 27182

=e = 2.T182

. the population of the city after 25 years will be 27,182,

Exercise 6.6 | Q 12 | Page 213
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Radium decomposes at the rate proportional to the amountpresent at any time. If p
percent of the amountdisappears in one year, whatpercent of the amount of radium will

be left after 2 years?
SOLUTION

Let x be the amount of the radium at time t.

dx
Then the rate of decomposition is T which is proportional to x.
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dx
L — XX
dt

= - kx, wherek > 0

_::b:
Codt

1
so—dx = - kdt
X

On integrating, we get

1
f—d}c:—k/dt
X

~logx=-kt+c

Let the original amount be xg, i.e. x = xg, when t = 0.
~logxg=-kx0+c . c=logxg
- log x = -kt + log xq

- log x - log xg = - kt

1og(i) -kt (1)
X

But p% of the amount disappears in one year,

~whent=1x=x3-p%ofxy, iex=xy- %

xg — 220
~. log — ) - kx1
Xq

P 100 —p
tk=—1 (1——) _ ]
5" 7 100 Dg( 100 )

100 —
. (1) becomes, ]Dg(i) = tlog( P)
Xp 100
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When t = 2, then
2
X 100 — 100 —
log| — | = 2log b log P
X 100 100
x  (100-p)\°
T xp 100
100 — p 2 (1 P )2
o _— Nn = - =
100 0 100/ *°

100 x (1 — 2-)’x
- % left after 2 years =

+—100(1 - lf])—ﬂ)z — |10(1- ?1?0)}2
_ (10— %)2

2
Hence, = (10 — %) % of the amount will be left after 2 years.

MISCELLANEOUS EXERCISE 6 [PAGES 214 - 216

Miscellaneous exercise 6 | ( 1.01 | Page 214

Choose the correct option from the given alternatives:

dy 2 dgy 2

The order and degree of the differential equation ¢/ 1 + (—) = (—) are respectively.
dx dxz

2,1

1,2
3,2
2,3

SOLUTION
2,3
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Miscellaneous exercise 6 | Q 1.02 | Page 214

Choose the correct option from the given alternatives:

c
The differential equation of y = A4+ —is
X

SOLUTION

Y RN
dx dx

Miscellaneous exercise & | Q 1.03 | Page 215

Choose the correct option from the given alternatives:

x? + y? = a® is a solution of
d’y d
dx? dx

/\Zi@Ci TY
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[ 2
dy dy
= wv_" 1 =
/ xdx—'_a\/ +(dx)

Hint:

[ 2
dy dy
— 1 -
dx+a\/ +(dx)
(-3)* SRASE
=X\ —= = ——|—a,><—
y \/ y
a2 _ 52 2

L —y
y y

Miscellaneous exercise 6 | Q 1.04 | Page 215

Choosethe correct option from the given alternatives:
The differential equation of all circles having their centres on the liney = 5 and touching

the X-axis is
dy |

2

1+ — | =25
*’r( dx)

{h’)z
1+ — = 25

dx

dv \ 2

(y-5)° + 1+(§)]=25

(y-5)° [1 - (%)2] — 25

(y-5)°
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SOLUTION

d 2
1+(E%)]=25

Hint: Equation of the circle is

(y-5)°

x-h2+(y-52=5 ..(1)

s2(x-h) + 2(y - 5]% =0
2
“ (x- )2 = (y - 5)2 (dy)
dx

d 2
;25-@-53:w—52(3%) ..[By (1)]

2
dy
1+ (=) | =25
(dx)] ’

Miscellaneous exercise & | Q 1.05 | Page 215

- [y - 5)?

Choose the correct option from the given alternatives:

d
The differential equation }IE}I + x = 0 represents family of
circles
parabolas
ellipses

hyperbolas
SOLUTION

circles

Hint:

d
YEF—H{ZD .-.fydy+fxdx:c
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2 2
.-.y——I-K—=c
2 2

X% +y% = 2c which is a circle.

Miscellaneous exercise 6 | Q 1.06 | Page 215

Choose the correct option from the given alternatives:

d
The solution of — - & _ tan ' xis

X

x2tan lx

2
1

+c=10

xtan'x+c=0

x—tan'1x:c

x2tan 1 x 1( - )+
=  — — —_(x—tan 'x)+¢
Y 2 >

SOLUTION

x*tan 'x 1 1
y:—z —E(x—taﬂ x)—|—-::

Miscellaneous exercise 6 | Q 1.07 | Page 215

Choose the correct option from the given alternatives:

d
The solution of (x + y}z_.‘f =1is

dx

x:tan'1{x+y}+c

X
y”[;:m'1 (—) =cC
y

y:tan'1(x+y}+c

y+tan'1[x+y]++:
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y:tan'1{x+y}+c

Hint:

d

o Ay

— -1
(x+¥)"

dy du

Putx +vy = ol —=— = —
utx+y=u T I

2(du )
|l ——1] =1
dx

2
f v duzfdx
u?+1
(u2+1]—1
/ du=[dx
u? +1

.-./(1—%)@:/@

1

~u-tan'u=x+rc

.-.;:-<+y—tar"|:I x+y)l=x+c

LY = tan”! (x+y) +c

Miscellaneous exercise 6 | Q 1.08 | Page 215

Choose the correct option from the given alternatives:

dy B y + /x2 — y?2 .
X

sin " (l) = 2loglx| + ¢
X

Sill_l(}—) = log|x| + ¢
X

The solution of

%@Ci TY
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oin
(

log|x| + ¢

sin ) = 2log|x| + ¢

M |

SOLUTION

sin~ " i) = log|x| +¢
X

Hint:
dy_}r+1f}(2—y2
dx X
Put dy +x
uty=vx . —=v+x——0
y dx dx
dv vx + vx2 — vix?
LV X— = =v+v1-—v?
dx X
dv
Xa=\f1—?2

1 1
.-.]—dvzf—dx
v1—v2 X
~sinly = log x| + ¢

~sinly (E) = log|z| + <.
X

Miscellaneous exercise & |  1.09 | Page 215

Choose the correct option from the given alternatives:

The solution of E}r +y =cosx —sinx

ye* = cosx + ¢
ye* + ¥ cosx=c
yeX = eXcosx + ¢

y2e* = e¥ cos x + ¢

%@Ci TY
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SOLUTION

ye* = eXcosx + ¢

Hint:

dy—l— = COSX — sInx
dx Yy

LF. = e/ 1% — o~
- the solution is y - e* = f{cusx —sinx)e® +¢

~yet =e*cosx+ ¢
Miscellaneous exercise 6 | O 1.1 | Page 216
Choose the correct option from the given alternatives:

d
The integrating factor of linear differential equation x_}; + 2y = x° logxis

SOLUTION

x2

. 2
Hint: LF. = o) 9% — g2logx _ 2
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Miscellaneous exercise 6 | @ 1.11 | Page 216
Choose the correct option from the given alternatives:
The solution of the differential equation EF = secX — ytanx

ysecx+tanx==c
ysecx=tanx + c
secx+tytanx=c

secx=ytanx + c

ysecx=tanx + ¢

Hint:
d

&y secX —ytanx

Yy
o + ytanx = secx
x
LE. = ej tan xdx _ elﬂgﬁfecx — gac

. the solution is

y - secx = /sec;& sec xdx + ¢

Lysecx=tanx + cC

Miscellaneous exercise 6 | Q 1.12 | Page 216

Choose the correct option from the given alternatives:

d
The particular solution of EF =xe¥ ¥, whenx=y=0is

et Y =x+1
e Y = x+1
e“ +e¥ =x+1
e F=x-1

velocity coaching classes, chandrapur



cracknta.com

eV =x+1
Hint:

ﬂ — Xej‘r_x
dx

—e ¥ = —xe* + +c
y X 1
e ' =—+——c
et  ef

etV =x+41—ce*
When x = y = 0, we get
1=1-c ~c=0

-, particular solution is
etV =x+1

Miscellaneous exercise 6| (0 1.13 | Page 216

Choose the correct option from the given alternatives:

2 2
X
— % = 1 is a solution of
a
2 2
y dy
— 4+ vx+ | — =0
2 Y (dx)
Y ()
Xy - XN 3] Yo &
dxc dx T dx

/\Zi@Ci TY
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dy dgy
+ —0
Xy~ :r*dxg
d*y dy\> dy
— 4+ x| =) —y= =0
R X(dx) Y Ix
Hint
2 2
X y
§_§_1 ..... (1)
1 1 dy
— X2X— —F X2y— =10
a2 b2 dx
X y dy
2 Pax 9
a b dx

x2 —yg 1
X —y% 0

d? dv\? d

F dx Y ix

Miscellaneous exercise 6 | Q 1.14 | Page 216

Choosethe correct option from the given alternatives:
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The decay rate of certain substances is directly proportional to the amount present at
that instant. Initially there are 27 grams of substance and 3 hours later it is found that8
grams left. The amountleft after one more houris

52
— grams
3 g

_1

H— grams
3 g

5.1 grams

5 grams

1
3

D— grams

Miscellaneous exercise 6 | Q 1.15| Page 216

Choosethe correct option from the given alternatives:
If the surrounding airis kept at 20° C and a body cools from 80° C to 70° C in 5 minutes,
the temperature of the body after 15 minutes will be

51.7° C
54.7° C
52.7° C
50.7° C

54.7° C

P wnh P

MISCELLANEOUS EXERCISE 6 [PAGES 216 - 218

Miscellaneous exercise 6 | Q 1.1 | Page 216

Determine the order and degree of the following differential equation:

d’y _dy 5
+ 5 +y=xXx
dx? dx
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The given D.E. is

d’y _dy 5
5 —
-::1:{2 + I +y=X

2

This D.E. has highest order derivative Ej; with power 1.

.. the given D.E. is of order 2 and degree 1.

Miscellaneous exercise 6 | Q 1.2 | Page 216

Determine the order and degree of the following differential equation:
2
d*y _ e dy
dx dx

SOLUTION

The given D.E. is

2
d? Jod
avy)y _ 1Y
d){g '[b{

dgy 2xh L. y
(dj{g ) N dx
dgji’ 10 L y
(dxz ) B dx
3
This D.E. has highest order derivative Ej; with power 10,

.. the given D.E. is of order 3 and degree 10.
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Miscellaneous exercise 6 | Q 1.3 | Page 216

Determine the order and degree of the following differential equation:

2 2
14 () _ 4y
dx dx2

SOLUTION

The given D.E. is

f
. (dy\® d°
\ dx dxg

On cubing both sides, we get

d

This D.E. has highest order derivative —3; with power 3.
dx

. the given D.E. is of order 2 and degree 3.

Miscellaneous exercise 6 | Q 1.4 | Page 216

Determine the order and degree of the following differential equation:

[ 2
dy 1 dy
2 _3 1+5( ==
dx y—i_\/ +J(d_x)
SOLUTION

The given D.E. is
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dy * dy )
(& —3y) =1+5
( dx }r) ( dx

d
This D.E. has highest order derivative E}r with power 4.

.. the given D.E. is of order 1 and degree 4.
Miscellaneous exercise 6 | O 1.5 | Page 216

Determine the order and degree of the following differential equation:

4
H —|—sm(d}r) =0
dx* dx

SOLUTION

The given D.E. is
d* d
£y + sm( 'Y) =0
dx? dx
| . - dYy
This D.E. has highest order derivative ——.
dxd-

- order = 4

Since this D.E. cannotbe expressed as a polynomial in differential coefficient, the
degree is not defined.

Miscellaneous exercise 6 | Q 2.1 | Page 217

In the following example verify that the given function is a solution of the
differential equation.

x—l—}r =T x——l—\/l—l—( )=y
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Differentiating both sides w.r.t. x, we get

d
2x + 2yd—y

dy
L 2y— = —2
}de *
_ d_‘,r X

Tdx

=0

2

Hence, x= + },2 = r¢ is a solution of the D.E.
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dy dy \*
X— +rq/l+ | — | =
dx \/ ( dx ) Y

Miscellaneous exercise 6 | Q 2.2 | Page 217

In the following example verify that the given function is a solution of the

differential equation.
2

d
y = ™ sin bx; E‘g — EaE}I + (ai + bg)y —0

y = ™ sin bx
dy d :
e E{e“ sin bx)

d d
= e . —(sinbx) + sinbx - — (™
e (sin bx) + sin bx - (e™)

d d
= "™ x cosbx - E[bx] + sin bx - ™" - E(a}c]

= e®cosbx x b+ e*sinbx x a

— e™*(b cos bx + asin bx)

d’y d

d — = —[e™(bcosb sinb
an 2 dx[e (b cos bx + asin bx)]

d ; . : d

=e“-—{bcc:-sbx—l—asmbx)—i—(bcc:-sb:{—%asmb:{)-a[e“)

ax : d d : _—
= e**|b(—sinbx) - —(bx) + acosbx - —(bx)| + (b cos bx + asin bx) - e** - — (ax)

dx dx dx

= e™[—bsinbx x b+ acosbx x b] + (bcosbx + asinbz) - e™ x a

= ea‘x(—l::-2 sin bx + ab cos bx + ab cos bx + a® sin bx]

— g™ [(a,g — bz) sin bx + 2ab cos bx}
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Miscellaneous exercise 6 | Q 2.3 | Page 217

In the following example verify that the given function is a solution of the
differential equation.

2 dﬂ? dy

y = 3cos(logx) + 4sin(logx); x 2 +x—+y=0

y = 3cos(logx) + 4sin(logx) ..(1)

dx

Differentiating both sides w.r.t. x, we get

dy d d .
el BE [cos(log x)| + 43 [sin(log x)]

= 3[— sin(logx)| % (logx) + 4 cos(logx) % (logx)

1 1
= —3sin(logx) x — + 4 cos(logx) x —
x X

X% — —3sin(logx) + 4 cos(log x)

Differentiating again w.r.t. x, we get,

= (3—1) + () = —3-C fsin(log )] + 4 [cos(log )
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2
x% + % x 1 = —3 cos(logx) - %(IDEX) + 4]~ sin(log x)] - %UOE x)
d’y dy

1 1
XE + Fele —3cos(logx) x < 4 sin(log x) x <

d? d

L x? dx}; +x di = —[3cos(logx) + 4sin(logx)] = —y  ..[By (1)]
dy | _dy

- _

d? d
Hence, y = 3 cos (log x) + 4 sin (log x) is a solution of the D.E. xzﬁ + Xd—y +y=0
X

Miscellaneous exercise 6 | Q 2.4 | Page 217
In the following example verify that the given function is a solution of the differential equation.
d’y | dy

xy—ae +bhe ™+ xhx—L +2—L 4 x> —xy+2
¥y 2 = ¥

SOLUTION

xy — ae* + be ¥ + x?
LXy —x° =ae*+be * _.(1)

Differentiating both sides w.r.t. x, we get

d d
XEF +y- E{X] —2x = ae* + be ™ x {—1:}

y x —x
L X— 4+ v —2x = ae™ — be
dx y

Differentiating again w.r.t. x, we get

x%(g)—k dy ~ d (X]—I-%—lezaex—be_x{—l)

dx dx  dx
d2 d d
P A ARV P A SUIE S B
dx? dx dx
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dy dy )
X —— +2— —2=xy—X ..[By (1
FaC E y [By (1)]
d? d
.-.x—}r —|—2—}r + x° =Xy + 2
dx*  dx
Hence, xy = ae® — be ™ + x2 is a solution of the D.E.
d d
X F—I—Q F+x2=xjr—|—2
dx? dx

Miscellaneous exercise 6 | Q 2.5 | Page 217

In the following example verify that the given function is a solution of the differential equation.

dx
e 23,?2 logy, x> + yz =Xy—
dy

x? =2y’logy  ...(1)

Differentiating both sides w.r.t. y, we get

2x =2 c; (}fg log jr)

_ 9 _}r?di}r(log}f) + (logy) - ;—F(yz)]

[ 1
=2 }fgx;—i-{logjr}ny

dx
L X— =y + 2ylogy

dy
dx
XY — = yz + Zyz logy
dy
=y?+x°  ..[By (1)]
dx
L x4 jg,r2 = Xy —
dy
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dx
x2 + _‘f? = Xy—
dy

Miscellaneous exercise 6 | Q 3.1 | Page 217

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

y? = a(b-x)(b + x)
y> —a(b-x)(b+x) = a,(l:-.2 — xg)

Differentiating both sides w.r.t. x, we get

d

Zyi = a(0 — 2x) = —2ax
d

}ri — —ax  ..(1)

Differentiating again w.r.t. x, we get

d /d d d
y-—(—}r)—k—y —yz—axl

dx \ dx dx dx

d? 2

dy (v _

dx? dx

d’y dy
.-.xydx2+xdx=—ax

d’y  dy dy

— By (1

X}fdszerX YV ix [By (1)]

d2 d d

Xy F—i—x Y F=D

This is the required D.E.
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Miscellaneous exercise 6 | Q 3.2 | Page 217

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:
y=asin (x+b)

SOLUTION

y =asin (x + b)

dy d .
T aﬂ[sm(x + b)]

—acos(x + b) — %{X-l—h)
=acos(x+b)x(1+0)
=acos(x+ b)

d’y

d
and i a— [cos(x + b)]

= a|— sin(x + b)] - %(x + b)

— —a,sin(X‘|‘ h) X (1 + D)

dzy
—— ==Y ... [By (1]
dX2 ¥ Y

32
—'z +y=0

dx
This is the required D.E.

Miscellaneous exercise 6 | Q 3.3 | Page 217

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

(y - @)*=b(x +4)

SOLUTION
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(y-a®=bx+4) ..(1)

Differentiating both sides w.rt. x, we get

2(y-a) -~ (y-a) = b (x + 4)
2(y-a)- (% —0) = b(1+0)

2(y - a)— =b

d ~ 2
2(y—a)di - (f; fi [By (1)

d
2(x+4)§=3r—a

Differentiating again w.r.t. x, we get

dy
4) 4 —~
[{x—l— ( ) (x—l— ]] I
2 (x+4)—3'r+—jr 1+0)| =W
2 dx dx
d’y _dy dy
2 H—L 192 2 _
(x + )dxg—'_ I dx
d’y dy

This is the required D.E.

Miscellaneous exercise 6 | Q 3.4 | Page 217
Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

y = x/a, cos(log x) + bsin(log x)
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y = \/a cos(logx) + bsin(log x)

yz =acos(logx) + bsin(logx) ..(1)

Differentiating both sides w.r.t. x, we get

23;% = a% [cos(log x)]| + b% [sin(log x|
— al- sin(log )] —(logx) + b os(logx) - = (logx)
= a[—sin(logx)] - ——(logx cos(logx) - ——(logx
= —asin(logx) x L + b cos(log x) x L
X X
dy :
ZHE — —asin(log x) + b cos(log x)

Differentiating again w.r.t. x, we get

d [dy dy d
2{”'5(5) +a'a("“f}]
~ —a [sin(log )] + b~ [cos(log )]
= —a——[sin(logx g Lcos(logx

d’y dy( dy
X

.2
[XF o dx \Cdx

+}T><1)

= —acos(logx) - %(lﬂg x) + b[—sin(logx)] - d;i(log x)

syt (U A2ty M)A 2 + 20 (Mdyt /M dxT) M2 + 2yt /M dx!

1 1
= —acos(logx) x — — bsin(logx) x —
- X

dgy dy 2 dy
. 2 2
~2X y—5 + 2X (—) + 2xy—

— —[acos(logx) + bsin(logx)] = —y° ....[By (1)]
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d? dy \? d
2}:?3;3': + 2x° (a}r) + 2xy£ +y2=0

This is the required D.E.

Miscellaneous exercise 6 | Q 3.5 | Page 217

Obtain the differential equation by eliminating the arbitrary constants from the
following equation:

y = Ae®™! 4 Be 31

SOLUTION

y = Ae®*1 4 Be L (1)

Differentiating twice w.r.t. x, we get

dy 3 d _ d

— — AP —(3x+1)+Be ™. —(—3x+1
] e o (3x+1)+Be o (3x+1)

= Ae™ x (3+1+0)+Be ! x (-3 x 1+ 0)

_ 3Ae:}x—1 o 3Be—3x+1
d’ d d

and —% — 3Ae 1. —(3x+1) — 3Be 1. —(—3x+1)
dx? dx dx

— 3Ae™! % (3x 1+ 0)—3Be ! x (-3 x 1+ 0)

_ Q(AEBX+1 + BE—Ex—l)

9y ..[By ()]
2
AV a0 o
dx?

This is the required D.E.
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Miscellaneous exercise 6 | Q 4.1 | Page 217

Form the differential equation of all circles which pass through the origin and whose
centers lie on X-axis.

Let C(h,0) be the center of the circle which passes through the origin. Then the radius
of the circle is h.

- equation of thecircle is (x - h)? + (y - 0)? = h?

s X2-2hx+h+y?=h2

s X2+ h?2=2hx ...(1)
Differentiating both sides w.r.t. x, we get
d
2% + 2y =Y — oh
dx

Substituting the value of 2h in equation (1), we get

dx

2 2 2 dy
DXy =2x" 4 2xy—

d
x? + yg = (2): + Zy—y)x

dy
Lxy—— +x2 -y =0
X}rd:{ y
This is the required D.E.
Miscellaneous exercise 6 | Q 4.2 | Page 217

Form the differential equation of all parabolas which have 4b as latus rectum and whose
axis is parallel to the Y-axis.
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SOLUTION

Let A(h, k) be the vertex of the parabola which has 4b as a latus rectum and whose axis
is parallel to Y-axis. Then the equation of the parabola is

(X -h)?>=4b(y -k) ... @
where h and k are arbitrary constants.

0

Differentiating both sides of (1) w.r.t. x, we get
d d
2(x-h)- —(x-h) =4b— (v -k
(x-h) - ——(x-h) = 4b—(y- k)

~2(x-h) x (1—0) = 4b(dl —0)

dx
dy
~(x-h)=2b—
(x - h) .
Differentiating again w.r.t. x, we get
2
1—0-2 LY
dx?
q2
~ob=L _1-0
dx?

This is the required D.E.
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Miscellaneous exercise 6 | Q 4.3 | Page 217

Find the differential equation of the ellipse whose major axis is twice its minor axis.

SOLUTION

Let 2a and 2b be lengths of major axis and minor axis of the ellipse.
Then 2a = 2(2b)

~a=2b

~ equation of the ellipse is

X?

2
< . ¥
aﬂ hﬂ
2

X
le. 5 + Fg =1
(2b)" b
XE 2

RSN G

4h®  b?
S X+ 4}!2 = 4p?

Differentiating w.r.t. x, we get

d
2% +4x 292 —0
dx

dy
LX+4dy— =0
y dx
This is the required D.E.

Miscellaneous exercise 6 | Q 4.4 | Page 217

Form the differential equation of all the lines which are normal to the line3x +2y +7 =
0.
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—3 3
Slope of the line 3x -2y + 7 =0is =3

2
~. slope of normal to this line is 3

Then the equation of the normal is
2

y = _EX + k, where k is an arbitrary constant.

Differentiating w.r.t. x, we get

vy __2 140
dx 3
dy
~3—L42=0
dx

This is the required D.E.

Miscellaneous exercise 6 | Q 4.5 | Page 217

Form the differential equation of the hyperbola whose length of transverse and

:{2

conjugate axes are half of that of the given hyperbola 16

SOLUTION

The equation of the hyperbola is

XE ]ﬁ'ﬂ . XE },.2

— — — =kie — =1

16 36 16 k 36k
XZ Fﬂ

Comparing this equation with — — 5 = L weget
a b

a® = 16k b? = 36k
sa= 4\/1b — 6vk

-~ |{transverse axis) = 2a = 8vVk

%@Ci TY
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and I(conjugate axis) = 2b = 12v'k

Let 2A and 2B be the lengths of the transverse and conjugate axes of the required
hyperbola.

Then according to the given condition
2A =a=4Vk and 2B = b = 6Vk
~A=2VkandB = 3vk

.. equation of the required hyperbola is

- 9x? - 4y? = 36k, where k is an arbitrary constant.

Differentiating w.r.t. x, we get

d
9% 2x —4x 252 — 0
dx

dy
SO —Adv— =0
}{dx

This is the required D.E.

Miscellaneous exercise 6 | 5.1 | Page 217

Solve the following differential equation:

dy
| ) =2x+3
°g(dx) X+ 3y
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d
log (_y) = 2x+ 3y
dx
d
. _}r _ e?x+3§r _ EEX.EE‘V
dx
. 1 2x
. Edy = e“dx

Integrating both sides, we get

/e_g}'dy = /eﬁ dz
/e_gyd}f = /eﬂxd:{

E—E}f eﬂx N
= ]
—3 2

22_3}' = —392}{ + ﬁﬂ]_

- 2e % 4+ 3% — ¢ where ¢ = 6¢;
This is the general solution.

Miscellaneous exercise 6 | ( 5.2 | Page 217

Solve the following differential equation:

dy 5
— =Xv+
dx yr+¥y

dy 9
— =x’y +
Xy—ry

dy

A 2
i }r(x —I—l]
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- Ldy = (2 + 1)dx
y

Integrating both sides, we get

/%dy = /(:{2 +1)dx

3
X
- logly| = 5 +x+c
This is the general solution.

Miscellaneous exercise 6 | 4 5.4 | Page 217
Solve the following differential equation:

xdy=(x+y+ 1)dx

xdy = (x+vy+ 1) dx
~dy x+y+1 x+1 vy

S dx X X X
d 1 x+1
N d—y .y = (1)
X X X

This is the linear differential equation of the form

d 1 x+1
—F-i—P}r:Q,whereP: —— and Q =
dx X X
S IF =el/Pdx _ of-3dx
_ e—lﬂgx _ elag[%] _ l

X

- the solution of (1) is given by

g (LF.) — /Q  (LF.)dx + ¢

%@Ci TY

JEE-NEET COACHING

velocity coaching classes, chandrapur



cracknta.com

1 x+1 1
._=[ « Lax+e

Y
X X X
x+1
£=/ ;—dx+c
X X
1 1
.-.zzf(——I——)dx—l—c
X x x2
1
.-.£=/—d:(—i—/x—2cb:—l—c
X X
y x !
.= =loglx|+ — +¢
X —1

~y=xlogx-1+ cx
This is the general solution.

Miscellaneous exercise & | Q 5.5 | Page 217

Solve the following differential equation:

dy 9
— +ycotXx =x"cot Xx + 2x
dx

SOLUTION

d_}r +ycot x = x’cot X + 2x ...(1)
dx

This is the linear differential equation of the form

d
—'Y-i—P_‘f=Q,whereP:cotxandQ:xEcotx+2x

dx
“LF. = ej'de _ ej'cotxdx
_ elﬂg{smx]

= sin X.

- the solution of (1) is given by
yﬂFJ=fQ{HU@+c

LY sinx = /(xzccﬂ: x+ 2x)sinxdx +c

/\Zi@Ci TY
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LY sinx = /(x2 cotx-sinx + 2xsinx)dx +c

.-.ysinx:fxﬂcosxdx+2/xsinxdx+c

/\Zi@Ci TY

JEE-NEET COACHING

d
.-.ysirwxzngcosx dx—/[d—(xg)fcosx dx]dx—i—Efxsinxdx—l—c
X

— x?(sinx) — /EX(SiJ:Lx]dx—I— 2/:{ sinx dx+c

=ngiﬂ$—Z/XSiﬂXdJC+2[XSiﬂXdJ{+C

2

LYsinX =xTsinx +C

Y= 3{2 + C CosecC X
This is the general solution.
Miscellaneous exercise 6 | Q 5.6 | Page 217

Solve the following differential equation:

ylogy = (logy? - x) —

dx
dy
logy = (log y° - x) ——
y logy = (log y= - x) r
I lcngj,f?—x
& ylogy
X
~dx  2logy-x
 dy ylogy
dx B 2 X
dy y ylogy
dx X 2
: + == ..

dy  ylogy ¥
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This is the linear differential equation of the form

dx
— + Px = Q where P = and Q = —
dy ylogy y

. -1
IF.=elPd¥ — of saydy

1/y

_ of Ty @y _ Qlogllogy] _ log y

. the solution of (1) is given by

x-(LF.) = /Q -(LF.)dy + ¢

2
.-.x-logy=/—-logydy—|—c
¥

[log}r)vx=2/10gyd}f—|—c
Putlogy =t
1
o —dy = dt
y
[log}r]-x=2ftdt—l—c

2
.-.xlogy:Z-E—i—c

= xlogy = (log y)* + c

This is the general solution.

Miscellaneous exercise 6 | 4 5.7 | Page 217

Solve the following differential equation:
d

X 8x=he ¥

dy
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dx
— +8x=5e W
dy
d 5
d—X t2x = Ee—gf*’ ()
y

This is the linear differential equation of the form

I

dx
— +Px=QwhereP=2and Q = e
dy 4
F.=elPU = &2 — %

.. the solution of (1) is given by
x-(LF.) = /Q (LF.)dy + ¢

! H :
nx el =/Ee_3yve%dy—l—c1

) D "
nx-e¥ = —fe_}dy—l—cl
4
5 e7

nxe¥=2."— t¢

4 -1
~ Axe?Y = - 5e7Y + A4

. Axe? + - 5e7Y = ¢, where ¢ = 4¢;

This is the general solution.

Miscellaneous exercise 6 | ( 6.1 | Page 218
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Find the particular solution of the following differential equation:

d
y(1 + log x) = (log x¥) E}r when y(e) = el

SOLUTION
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dy
1+1 — (log %) —=
y(1+logz) = (logx )dm

y(1+logx) — l(la:»gx"':)ﬁ =0
dx

d
y{l—l—lc:-g:r:)d—; —zlogz =0

141 d
(ldlogx . dy
x log x y

Integrating both sides, we get

1+1 d
/ﬂdx— Yo )

x log x y
Putxlogx =t
Then [x 4 (logx) + (logx) - i(x)] dx = dt
dx dx

[E + (logx}(l}] dx = dt

1+1 dt
/ﬂdxz /T = log|t| = log|x log x|

xlogx
- from (1), the general solution is
log |x log x| - log |y| = log ¢, where c; = log ¢

xlog x

= log = logc

- xlogx
y

sxlogx =cy

= C

This is the general solution.

Now, y = €2, whenx = e

/\Zi@Ci TY
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~eloge = ce?
1=ce
1
L= —
e
. L 1
. the particular solution is x log x = (—)y
e
oy = exlog x

Miscellaneous exercise 6 | 6.2 | Page 218

Find the particular solution of the following differential equation:

(x+2}r2]%=y,whenx:2,y:1

SOLUTION
dy
+2y%)—— =
(x+2y°) g =V
d x + 2y? X
Y ¥ _ =2 + 2y
dx y
dx 1 9 9
S— — — X =2y ..
dy vy
This is the linear differential equation of the form
dx 1
— +Px=QwhereP=——and Q = 2y.
dy y

' ' 1 -
2 IF=elPY = of W

_ o lomy _ elﬂg(%) _ 1

¥
.. the solution of (1) is given by
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x-(LF.) = fQ (LF.)dy +c

1 1
cxXX —= [2yx —dy+c
y y
X
.-.—=2[1dy—|—ﬂ
y
X
L— =2y +c
y
.'.x:2y2+cy

This is the general solution.

Whenx =2,y = 1, we have

2 =2(1)% + (1)

nc=0

~.the particular solution is x = 2y?.

Miscellaneous exercise 6 | Q 6.3 | Page 218

Find the particular solution of the following differential equation:

dy _ T
—— — 3y cot x = sin 2x, when y(—) =2
dx 2

A 3ycotx = sin 2x
dx
.9y

i (3 cot x)y = sin2x ..(1)

This is the linear differential equation of the form
dx .
— + Px = Q where P = —3 cot x and Q = sin 2x.

dy
~LF = e.f'P dy __ ej'—Emtxdx
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. " 3
_ E—EIog&-mx _ elog{alnx}

1

5'11:13 X

— (sinx) ® =
. the solution of (1) is given by

x- (LF.) — /Q (LF.)dy +

1 1
LY X 2 =[5'1n2:-:>< _ dx +c
sin” X sin 3x

3

",y cosec xz/?ﬂiﬂxcoﬂxx dx +c

sin” x

2

COS X
.'.ycosec?’:{:}l/ dx +c¢
sin” x

Putsinx =1t ~ocos x dx = dt

1

-y cosec® x = 2] —dt + ¢
£2

-y cosec® x = E/t_gdt +c

t—1
MY, cosec® x = 2 |:—1] +c
—2
~.y cosec® x =

- +c
sin x

Y cosec® x + 2 cosecx = ¢
This is the general solution.

m i
Now, y(E) = 2,ie.y =2, when x = By

3?].'

- 2cosec” — + ZCDSE{‘.E =c
2 2

S2(1P +2(1) =c¢
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.. the particular solution is

y cosec® x + 2 cosec x = 4

}"{ZOSE‘CE}C +2=4sinx

Miscellaneous exercise 6 | Q 6.4 | Page 218

Find the particular solution of the following differential equation:
X +y)dy+ (x-y)dx=0;whenx=1=y

SOLUTION
(x + y)dy + (x - y)dx =0
~o(x 4+ y)dy = - (x - y)dx

L dy _ y-x M
dx yv+x
Puty = vx '.ﬂzv—kxg
dx dx
dv VX — X v-1

- (1) becomes, v+ x = =
dx VX + X v+1

dv v-1 v—1—v" —v
X = — vV =

dx v+1 v+ 1

dv 1+ v2

dx 1+ w

1+v 1
" dv = ——dx

14 v2 X

Integrating both sides, we get

1 1
f +vdv=—/—dx
1+ v? b
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1
1+v: 142
St
1+ v2 x

d fr(z)
.-.ta.n_lv—l-—lo 1+v2 =—logx+c ...|" —(1++v?) =2v and f dv = log|f(v)| + ¢
g oL+ | =l oy (1) ey & = ToBlECY)
1 2
tan 1(£) + —log|l + 7 = loglx| + ¢
X 2 x2
1 ?_I_ 2
fan (1) + —log s B P —log|x| + ¢
X 2 x?
1
tan™" (%) + E]og X2 +y? — —log‘x | = —log|x| +¢
1(1) + log v/x2 + y2 — log|x| = —log|x| + ¢
k
¥

.-"_"\

)—I—log«\f}c?-l—y =g

This is the general solution.

When x = 1 =y, we have

tan (1) +log V12 +12 =¢
t
ta,n_l( az:rr) —|—]0gw/§ —

czg—l—logx@

.. the particular solution is
( )—i—]og«,;’x?—l—y ——|—ng\/_

Miscellaneous exercise 6 | Q 6.5 | Page 218

Find the particular solution of the following differential equation:

(1 + 2exff)dx + 26%/7 (1 - E)dy — 0 when y(0) = 1
y
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(1 + 2e1ffr')dx + 26Xy (1 - f)dy — 0
y

(1 + EEK’IY) dx = —2e™/7 (1 — E) dy
¥

(1 + 2&”3’) dx = 2e&7 (E — 1) dy

y
2ex-’3'(1 - 1)
d ¥
S A A (1)

dx 1+ 2ex/¥

Put x = vy

E =V + ji'd—v
dy dy

)b N dv = 2e"(v-1)
ecomes, v = -
y dy 1+ 2¢

dv. = 2e"(v-1)
Yay ~ 1+2e°
2ve’ — 2" — v — 2ve'
1+ 2e”

__(v—l—Zev)
1+ 26"
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Integrating both sides, we get

1+ 2e" 1
f( - 2e )dvz—f—dy
v+ 2e" v

d fr
~log|v+2e'|=-logy+logc .| —(v+2e") =1+ 2e" and [ ) dv = log|f(v)| + ¢
dx f(v)

~log v+ 2e'l+logy=logc
~logly (v + 2e¥)| = log c

~ylv +2e¥) = ¢

LY (E + 2ex-’r3") =c
y

nx o+ 2yeMY = ¢

This is the general solution.

Now, y(0) = 1, i.e.whenx =0,y =1
~0+2(Me?=¢

=2

~. the particular solution is x + 2ye®¥ = 2

Miscellaneous exercise 6 | Q 7 | Page 218

d 2 y+1
y Yy +y P

Show that the general solution of differential equationdX X2 +x + 1 is
givenby (x +y+1)=(1-x-Yy - 2xy).
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d ‘+y+1
y y+y+l

d« x*+x+1

o dy yv2+y+1

T dx __(x2+x+1)
1 1

n—————dy=————dx
Yty +1 o x2+x+1

Integrating both sides, we get

1 1
/—dyz—/—dx
y2+y+1 X2 +x+1

142 1
(y+3) "’(T (x+3) + (%
Y R 1| xt3
. ——tan = — tan +c
N [ N (@) N '
2 2 2 2
2 _1(2y+1) 2 _1(2x+1)
. ——tan + ——tan = C
V3 V3 V3 V3
2y+1 2x+1
2| (%) + (3%
T yea) (amer) [
i ( V3 )( v )
2y+142x41
3, ( V3 ) V3
tan = C1

2 —2x — 2y — 4dxy

2y +2x+2)V3 taﬂ(x/ﬁ )
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X+y+z 1 V3 1 V3
= tan| — ¢; | = ¢, wherec= —tan| — ¢
2 V'3 2

'.'1—}:—}’—2}(}; V3

Ly + 1) =c(1-x-y-2xy)
This is the general solution.
Miscellaneous exercise 6 | Q 8 | Page 218

The normal linesto a given curve at each point(x, y) on the curve pass through (2, 0).
The curve passes through (2, 3). Find the equation of the curve.

Let P(x, y) be a point on the curve y = f(x).

1
Then slope of the normal to the curve is T

dx

.. equation of the normal is

(Y-) =~ (X-%)

dx
Yy = (X
[Y—y)% +(X-x)=0

Since, this normal passes through (2, 0), we get

09T +E-0=0

d
d
—FEF =x-2
=y dy = (x-2)dx

Integrating both sides, we get
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~ %2 +y? = 4x + ¢, where ¢ = - 2¢;

This is the general equation of the curve.

Since, the required curve passed through the point (2, 3), we get
22 +32=402) + c

Lc=5

. equation of the required curve is

X2 + yE = 4dx + 5.

Miscellaneous exercise 6 | Q 9 | Page 218

The volume of a spherical balloon being inflated changes ata constantrate. If initially its
radiusis 3 units and after 3 secondsitis 6 units. Find the radius of the balloon after t
seconds.

SOLUTION

Let r be theradius and V be the volume of the spherical balloon at any time t. Then rate
of change in volume of spherical balloon is dV/dt
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3 ﬂ = k', where k' is a constant.
dt
4 4
ButV = —ar
3

dt 3 t dt
dr

. 4 2‘_ — |(I

™3

dr kr kr

2
2k wherek = —

Pae T an R T
~r2dr=kdt

Integrating both sides, we get

fﬁ&:kfm

9
T
~—=kt+¢
3

Initially the radius is 3 units

le.r=3 whent=20

Miscellaneous exercise 6 | Q 10 | Page 218
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A person’s assets start reducing in such away that the rate of reduction of assets is
proportional to the square root of the assets existing at that moment. If the assets at the
beginning ax ‘ 10 lakhs and they dwindle down to * 10,000 after 2 years, show that the

2
2— years

person will be bankruptin 9 from the start.

SOLUTION

Let x be the assets of the person at time t years. Then the rate of reduction is dx/dt

which is proportional to Vx.
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dx
dx
i —k+/x, where k > 0
dx
. —— =-kdt
/x

Integrating both sides, we get

[x—%dx — —kfdt

2
220X =-kt+c
At the beginning, i.e. att = 0, x = 10,00,000

». 24/1000000 = - k (0) + c

-.c = 2000

b=

~ 2¢v/x = —kt + 2000 ..(1)
Also, when t = 2, x = 10,000

- 2v/10000 = —k x 2 + 2000
+ 200 = - 2k + 2000

- 2k = 1800

-~ k =900

- (1) becomes,

s 24/x = —900t + 2000

When the person will be bankrupt, x = 0
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- 0=-900t+ 2000

- 900 t = 2000
20 2

Lt — =2—
9 9

2
Hence, the person will be bankrupt in 25 years.
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